Supporting Information for:

Synthesis of Galactofuranose Containing Acceptor Substrates for

Mycobacterial Galactofuranosyltransferases

Gladys C. Completo and Todd L. Lowary*”

Alberta Ingenuity Centre for Carbohydrate Science and Department of Chemistry, The
University of Alberta, Gunning-Lemieux Chemistry Centre,
Edmonton, AB T6G 2G2, Canada.

Email: tlowary(@ualberta.ca

Table of Contents

General Methods S5
Additional experimental details and data for new compounds S6-S49
References for Supporting Information S49
'H NMR spectrum of 3 S50
*C NMR spectrum (APT) of 3 S51
'H NMR spectrum of 4 S52
'3C NMR spectrum (APT) of 4 S53
'H NMR spectrum of 5 S54
'3C NMR spectrum (APT) of 5 S55
'H NMR spectrum of 6 S56
*C NMR spectrum (APT) of 6 S57
'H NMR spectrum of 7 S58
'3C NMR spectrum (APT) of 7 S59
'H NMR spectrum of 8 S60

S1



'*C NMR spectrum (APT) of 8
'H NMR spectrum of 9

'3C NMR spectrum (APT) of 9
'H NMR spectrum of 10

*C NMR spectrum (APT) of 10
'"H NMR spectrum of 11

*C NMR spectrum (APT) of 11
'H NMR spectrum of 12

'3C NMR spectrum (APT) of 12
'H NMR spectrum of 15

3C NMR spectrum (APT) of 15
'H NMR spectrum of 16

*C NMR spectrum (APT) of 16
'H NMR spectrum of 17

13C NMR spectrum (APT) of 17
'"H NMR spectrum of 18

*C NMR spectrum (APT) of 18
'H NMR spectrum of 25

13C NMR spectrum (APT) of 25
'H NMR spectrum of 26

13C NMR spectrum (APT) of 26
'"H NMR spectrum of 27

*C NMR spectrum (APT) of 27
'H NMR spectrum of 28

*C NMR spectrum (APT) of 28
'H NMR spectrum of 30

S2

S61
S62
S63
S64
S65
S66
S67
S68
S69
S70
S71
S72
S73
S74
S75
S75
S77
S78
S79
S80
S81
S82
S83
S84
S85
S86



'*C NMR spectrum (APT) of 30
'H NMR spectrum of 31
'3C NMR spectrum (APT) of 31
'H NMR spectrum of 32
*C NMR spectrum (APT) of 32
'H NMR spectrum of 33
*C NMR spectrum (APT) of 33
'H NMR spectrum of 34
'3C NMR spectrum (APT) of 34
'H NMR spectrum of 35
3C NMR spectrum (APT) of 35
'H NMR spectrum of 36
*C NMR spectrum (APT) of 36
'H NMR spectrum of 37
13C NMR spectrum (APT) of 37
'H NMR spectrum of 38
*C NMR spectrum (APT) of 38
'H NMR spectrum of 39
13C NMR spectrum (APT) of 39
'H NMR spectrum of 41
13C NMR spectrum (APT) of 41
'"H NMR spectrum of 42
*C NMR spectrum (APT) of 42
'H NMR spectrum of 43
*C NMR spectrum (APT) of 43
'"H NMR spectrum of 45

S3

S87
S88
S89
S90
S91
S92
S93
S94
S95
S96
S97
S98
S99
S100
S101
S102
S103
S104
S105
S106
S107
S108
S109
S110
SI111
S112



'*C NMR spectrum (APT) of 45
'H NMR spectrum of 47
'H NMR spectrum of 48
'3C NMR spectrum (APT) of 48
'H NMR spectrum of 50
3C NMR spectrum (APT) of 50
'H NMR spectrum of 53
*C NMR spectrum (APT) of 53
'H NMR spectrum of 54
*C NMR spectrum (APT) of 54
'H NMR spectrum of 56
'H NMR spectrum of 57
*C NMR spectrum (APT) of 57
'H NMR spectrum of 58
13C NMR spectrum (APT) of 58
'H NMR spectrum of 61
*C NMR spectrum (APT) of 61
'H NMR spectrum of 62
13C NMR spectrum (APT) of 62
'H NMR spectrum of 63
13C NMR spectrum (APT) of 63
'"H NMR spectrum of 64
*C NMR spectrum (APT) of 64
'H NMR spectrum of 65
*C NMR spectrum (APT) of 65

S4

S113
S114
SIS
S116
S117
S118
S119
S120
S121
S122
S123
S124
S125
S126
S127
S128
S129
S130
S131
S132
S133
S134
S135
S136
S137



General Methods. Reactions were carried out in oven-dried glassware. All reagents
were purchased from commercial sources and were used without further purification unless
noted. Reaction solvents were purified by successive passage through columns of alumina and
copper under nitrogen. Unless stated otherwise, all reactions were carried out at room
temperature under a positive pressure of argon and were monitored by TLC on Silica Gel 60 Fs4
(0.25 mm). TLC spots were detected under UV light or by charring with acidified
p-anisaldehyde solution in EtOH. All organic solutions were dried with anhydrous MgSQO,.
Unless otherwise indicated, all column chromatography was performed on Silica Gel (40-60
uM). The ratio between silica gel and crude product ranged from 100 to 50:1 (w/w). Optical
rotations were measured at 22 + 2 °C. 'H NMR spectra were recorded at 600 MHz, 500 MHz
or 400 MHz, and chemical shifts were referenced to either TMS (0.0 ppm, CDCls), CD;0D (3.30
ppm, CD;0D) or HOD (4.78 ppm, D,0). 'H data were reported as though they were first order.
“C NMR (APT) spectra’ were recorded at 125 MHz or 100 MHz, and "°C chemical shifts were
referenced to internal CDCl; (77.23 ppm, CDCls), or CD3;OD (48.9 ppm, CD3;0OD) or external
acetone (31.07, D,0). Assignments of resonances in NMR spectra were made using 'H-'H
COSY and HMQC experiments. Organic solutions were concentrated under vacuum at < 40 °C.
Electrospray mass spectra were recorded on samples suspended in mixtures of THF with MeOH
and added NaCl.

Octyl 2,3,5-tri-0O-benzoyl-B-D-galactofuranoside (13) and Octyl

,3,6-tri-0O-benzoyl-p-D-galactofuranoside . Compoun: 36 g, 1.61 mmol) was
2,3,6-tri-0-b | lactof ide (14). C d 22° (1.36 1.61 1

S5



dissolved in CH,Cl; (75 mL), cooled to 0 °C, and trifluoroacetic acid (5% in CH,Cl,, 4.95 mL)
was added dropwise. After stirring for 8 h, the reaction mixture was co-evaporated with
toluene and concentrated to give a syrupy residue that was purified by column chromatography
(8:1 hexanes—EtOAc) to give 13 (409 mg, 42%) and 14 (338 mg, 35%) as colorless syrups. The
data for these compounds matched that previously reported.”

p-Tolyl 5-0-acetyl-2,3,6-tri-O-benzoyl-1-thio-B-D-galactofuranoside (15). To a
solution of 28 (0.23 g, 0.38 mmol) in pyridine (10 mL), was added acetic anhydride (50 uL, 0.37
mmol). The reaction mixture was stirred for 2 h, poured into an ice—water mixture, and
extracted with CH,Cl,. The combined organic layers were washed with brine, dried and
concentrated. Co-evaporation with toluene removed all traces of pyridine and the residue was
purified by column chromatography (4:1 hexanes—EtOAc) to give 15 as an amorphous white
solid (0.22 g, 90%). R;0.36 (3:1 hexanes—EtOAc); [a]p —61.2 (¢ 0.5, CHCl;); "H NMR (500
MHz, CDCls, dy): 8.10-8.06 (m, 4 H, Ar), 8.00-7.98 (m, 2 H, Ar), 7.62-7.44 (m, 7 H, Ar),
7.36-7.32 (m, 4 H, Ar), 7.14 (d, 2 H, J = 9.0 Hz, Ar), 5.78 (app dt, 1 H, J = 6.9, 4.4 Hz, H-5),
5.77 (brs, 1 H, H-1), 5.64 (dd, 1 H, J= 1.6, 1.1 Hz, H-2), 5.63 (dd, 1 H, J=4.7, 1.6 Hz, H-3),
486 (dd, | H,J=4.7, 44 Hz, H-4), 468 (dd, | H, J= 11.8, 5.7 Hz, H-6,), 4.56 (dd, 1 H, J =
11.8, 5.7 Hz, H-6y), 2.34 (s, 3 H, ArCH;), 2.01 (s, 3 H, C(=0)CHs); ?C NMR (125 MHz, CDCl;,
d¢): 170.0 (C=0), 166.0 (C=0), 165.4 (C=0), 165.3 (C=0), 138.3 (Ar), 133.6 (Ar), 133.1 (A1),
133.0 (Ar), 130.0 (Ar), 129.9 (Ar), 129.8 (Ar), 129.7 (Ar), 129.6 (Ar), 129.3 (Ar), 129.0 (Ar),

128.9 (Ar), 128.5 (Ar), 128.4 (Ar), 91.4 (C-1), 82.0 (C-2), 81.0 (C-4), 77.4 (C-3), 69.7 (C-5),

S6



63.2 (C-6), 21.1 (ArCH3), 20.8 (C(=0)CH3). ESI-MS m/z calcd. for [M + Na]™ Cs3sH3,09SNa:
663.1654.  Found: 663.1659.
p-Tolyl 6-0-acetyl-2,3,5-tri-O-benzoyl-1-thio-p-D-galactofuranoside (16).  Prepared
from 27 (0.17 g, 0.29 mmol) in pyridine (10 mL), and acetic anhydride (35.0 uL, 0.37 mmol) as
described for the synthesis of 15, and the residue was purified by column chromatography (4:1
hexanes—EtOAc) to afford compound 16 as an amorphous white solid (0.17 g, 90%). R 0.38
(3:1 hexanes—EtOAc); [a]p —30.3 (¢ 0.4, CHCl5); 'H NMR (500 MHz, CDCl3, dy): 8.10-8.05 (m,
4 H, Ar), 7.90 (d, 2 H, J= 7.0 Hz, Ar), 7.62-7.45 (m, 7 H, Ar), 7.36-7.31 (m, 4 H, Ar), 7.14 (d,
2 H, J=9.0 Hz, Ar), 5.92 (app dt, 1 H, J = 6.0, 5.0 Hz, H-5), 5.75 (d, 1 H, J = 0.9 Hz, H-1),
5.64-5.63 (m, 2 H, H-2, H-3), 4.86 (dd, 1 H, J=5.0, 3.8 Hz, H-4), 453 (dd, 1 H, J=11.8, 6.0
Hz, H-6,), 4.45 (dd, 1 H, J= 11.8, 6.0 Hz, H-6y), 2.34 (s, 3 H, ArCHs), 2.01 (s, 3 H, C(=0)CH):
*C NMR (125 MHz, CDCl;, d¢): 170.5 (C=0), 165.7 (C=0), 165.5 (C=0), 165.3 (C=0), 133.6
(Ar), 133.4 (Ar), 133.3 (Ar), 133.1 (Ar), 130.0 (Ar), 129.0 (Ar), 128.8 (Ar), 128.5 (Ar), 128.4
(Ar), 128.3 (Ar), 91.5 (C-1), 82.3 (C-2), 81.3 (C-4), 77.8 (C-3), 70.2 (C-5), 62.7 (C-6), 21.2
(ArCH;), 20.7 (C(=0)CH3)). ESI-MS m/z caled. for [M + Na]  CssH3,09SNa: 663.1660.
Found: 663.1659.
p-Tolyl 2,3,5,6-tetra-O-benzoyl-1-thio-B-D-galactofuranoside (17). Methyl glycoside
24 (13.26 g, 21.70 mmol) was dissolved in CH,Cl, (150 mL) at 0 °C and p-thiocresol (3.52 g,
28.3 mmol) was added. The reaction mixture was stirred for 15 min and BF;-OEt; (17.9 mL,

141.03 mmol) was then slowly added. The solution was then allowed to stir for 8 h while

S7



warming to rt before being neutralized with EtsN and diluted with CH,Cl,. The organic layer
was then washed successively a saturated aqueous solution of NaHCOs, water and brine. The
organic solution was dried and the solvent evaporated; the crude product was purified by
chromatography (4:1 hexanes—EtOAc) to give 17 (13.57 g, 89%) as an amorphous white solid.
Ry 0.38 (4:1 hexanes-EtOAc); [a]p —82.0 (¢ 1.0, CHCls); '"H NMR (500 MHz, CDCls, dp): 8.07
(ddd, 4 H, J=9.8,8.5, 1.2 Hz, Ar), 7.96 (dd, 2 H, J= 8.0, 1.5 Hz, Ar), 7.89 (dd, 2 H, /= 8.0, 1.5
Hz, Ar), 7.60-7.45 (m, 8 H, Ar), 7.39-7.26 (m, 6 H, Ar), 7.07 (d, 2 H, J= 8.0 Hz, Ar), 6.10 (app
dt, 1 H, J=6.6, 5.0 Hz, H-5),5.77 (d, 1 H, J= 1.8 Hz, H-1), 5.71 (dd, 1 H, /= 5.0, 1.8 Hz, H-3),
5.66 (app t, 1 H, J= 1.8 Hz, H-2), 4.95 (app t, 1 H, J=5.0 Hz, H-4), 4.75 (dd, 1 H, J=11.8, 7.0
Hz, H-6,), 4.71 (dd, 1 H, J = 11.8, 7.0 Hz, H-6), 2.32 (s, 3 H, ArCHs); ?C NMR (125 MHz,
CDCls, 8¢): 166.0 (C=0), 165.7 (C=0), 165.5 (C=0), 165.3 (C=0), 133.5 (Ar), 133.4 (Ar),
133.3 (Ar), 133.2 (Ar), 130.1 (Ar), 130.03 (Ar), 130.00 (Ar), 129.94 (Ar), 129.85 (Ar), 129.7
(A1), 129.6 (Ar), 129.5 (Ar), 129.2 (Ar), 128.9 (Ar), 128.8 (Ar), 128.5 (Ar), 128.41 (Ar), 128.39
(Ar), 128.35 (Ar), 91.6 (C-1), 82.3 (C-2), 81.4 (C-4), 77.9 (C-3), 70.3 (C-5), 63.4 (C-6), 21.1
(ArCH3). ESI-MS m/z caled. for (M + Na) C41H3409SNa: 725.1872.  Found: 725.1870.
p-Tolyl 2,3,5-tri-O-benzoyl-1-thio-B-L-arabinofuranoside (18). Prepared from 29
(15.88 g, 35.60 mmol) in CH,Cl, (75.0 mL) and p-thiocresol (4.40 g, 35.60 mmol) as described
for the synthesis of 17 to afford 18 (18.0 g, 89%) as an amorphous white solid. R, 0.38 (4:1
hexanes—EtOAc); [a]p —90.4 (¢ 1.0, CHCl3); "H NMR (500 MHz, CDCl;, oy): 8.14 (d, 2 H, J =

10.7 Hz, Ar), 8.06-8.00 (m, 4 H, Ar), 8.00-7.48 (m, 7 H, Ar), 7.42-7.30 (m, 4 H, Ar), 7.13 (d, 2

S8



H,J=8.0 Hz, Ar), 5.77 (d, 1 H, J= 1.0 Hz, H-1), 5.72 (dd, 1 H, J = 1.0, 3.0 Hz, H-2), 5.66 (dd,
1 H, J= 5.0, 3.0 Hz, H-3), 4.95 (app q, 1 H, /= 5.0 Hz, H-4), 4.75 (dd, 1 H, J = 11.8, 5.0 Hz,
H-5.), 4.71 (dd, 1 H, J = 11.8, 5.0 Hz, H-5), 2.32 (s, 3 H, ArCH3); *C NMR (125 MHz, CDCl;,
dc): 166.2 (C=0), 165.6 (C=0), 165.4 (C=0), 138.2 (Ar), 133.64 (Ar), 133.56 (Ar), 133.1 (Ar),
133.0(Ar), 130.0 (Ar), 129.91 (Ar), 129.87 (Ar), 129.77 (Ar), 129.72 (Ar), 129.6 (Ar), 129.0
(Ar), 128.9 (Ar), 128.6 (Ar), 128.5 (Ar), 128.3 (Ar), 91.7 (C-1), 82.5 (C-2), 81.0 (C-4), 78.1
(C-3), 63.6 (C-5), 21.1 (ArCH3). ESI-MS m/z caled. for [M + Na]" C33Hy307SNa: 591.1513.
Found: 591.1510.

Octyl 2,3,5,6-tetra-O-benzoyl-B-D-galactofuranoside (20). Dithioacetal 19° (5.90 g,
20.60 mmol) was dissolved in 5% I in octanol (w/v, 200 mL) at rt and stirred for 24 h. Excess
[» was quenched by adding a saturated aqueous solution of Na,S,03 (20 mL). Next, a saturated
aqueous solution of NaHCO; was added to neutralize the reaction mixture. The aqueous layer
was washed three times with EtOAc and the combined organic layers were concentrated via
azeotropic distillation with water to give an amorphous solid. To this crude mixture, pyridine
was added followed by the addition of benzoyl chloride at 0 °C. The reaction mixture was
stirred overnight, poured into an ice-water mixture, and extracted with CH,Cl,. The combined
CH,CI, layers were washed with 1 M HCI, brine, dried, and concentrated. @ Column
chromatography (4:1 hexanes-EtOAc) gave 20 (B/a = 9:1; 5.70 g, 39% over two steps). R, 0.40
(), 0.32 (B) (4:1 hexanes—EtOAc). The data for this material was identical to that reported

previously.*

S9



Octyl B-D-galactofuranoside (21). To a solution of compound 20 (f3-anomer, 1.47 g,
2.08 mmol) in dry MeOH (50 mL) was added NaOMe—MeOH (0.1 M) dropwise until the pH of
the reaction mixture turned 12. The reaction mixture was stirred at room temperature for 3 h
and neutralized with glacial acetic acid. Concentration gave a syrup that was purified by flash
chromatography (9:1 CH,Cl,-MeOH) to give the pure -anomer 21 as an amorphous white solid
(0.56 g, 92%). R;0.69 (9:1 CH,Cl,-MeOH). The data for this material was identical to that
reported previously.*

Methyl 2,3,5,6-tetra-O-benzoyl-o./p-D-galactofuranoside (23). Dithioacetal 19’ (0.50
g, 1.97 mmol) was dissolved in 2% I, in MeOH (w/v, 25 mL) at rt and stirred for 7 h. Excess I,
was quenched by the increment addition of solid Na,S,0; until the solution was colorless. The
reaction mixture was then neutralized by the addition of NaHCO; to the reaction mixture.
Evaporation of the solvent gave the crude product as an amorphous yellow solid. Without
further purification, pyridine was added to the crude mixture followed by the addition of benzoyl
chloride at 0 °C. The reaction mixture was stirred overnight, poured into an ice—water mixture,
and extracted with CH,Cl,. The combined CH,Cl, layers were washed with 1 M HCI, brine,
dried, and concentrated. Column chromatography (4:1 hexanes-EtOAc) gave 24 as an
amorphous white solid (B/a = 9:1; 0.76 g, 71% over two steps). R 0.42 (B), 0.37 (o); (4:1
hexanes—EtOAc);. The data for this material was identical to that reported previously.*

p-Tolyl 1-thio-B-D-galactofuranoside (24). To a solution of 17 (15.00 g, 21.34 mmol)

in 3:1 MeOH—CH,Cl, was added NaOMe in MeOH (0.1 M) dropwise until the pH of the reaction

S10



mixture was 12. The solution was stirred at rt for 8 h and neutralized with glacial acetic acid.
Concentration gave a yellow syrup that was purified by column chromatography (9:1
CH,Cl,~MeOH) to afford 24 (5.38 g, 88%) as an amorphous white solid. The data for this
material matched that previously reported.®
p-Tolyl 6-O-trityl-1-thio-pB-D-galactofuranoside (25). To a solution of 24 (0.58 g, 2.04
mmol) in pyridine (10 mL), was added trityl chloride (0.85 g, 3.05 mmol). The reaction
mixture was stirred at 50 °C overnight and was then poured into an ice—water mixture, and
extracted with CH,Cl,. The combined organic layers were washed with brine and the organic
solution was then dried and the solvent evaporated. Co-evaporation with toluene removed all
traces of pyridine and the residue was purified by column chromatography (1:1 hexanes—EtOAc)
to give 25 (0.85 g, 80%) as a colorless oil. Ry 0.12 (1:1 hexanes—EtOAc); [a]p —91.9 (¢ 1.1,
CHClL:); "H NMR (500 MHz, CDCls, dy): 7.46-7.44 (m, 6 H, Ar), 7.44-7.21 (m, 11 H, Ar),
7.01-6.99 (d, 2 H, J = 8.5 Hz, Ar), 5.32 (d, 1 H, J= 3.4 Hz, H-1), 4.22-4.17 (m, 2 H, H-3, H-4),
412 (appt, 1 H,J=3.4Hz H-2),3.93 (app t, | H, J=6.4 Hz, H-5),3.36 (dd, 1 H, J=9.5, 6.4
Hz, H-6,), 3.25 (dd, 1 H, J = 9.5, 6.4 Hz, H-6), 2.41 (s, 3 H, ArCH;); *C NMR (125 MHz,
CDCls, d¢): 143.5 (Ar), 137.7 (Ar), 132.6 (Ar), 129.9 (Ar), 129.8 (Ar), 128.7 (Ar), 127.9 (Ar),
127.2 (Ar), 92.5 (C-1), 87.1 (Ph3(), 83.9 (C-4), 81.5 (C-2), 77.9 (C-3), 69.9 (C-5), 64.8 (C-06),
21.1 (ArCH3). ESI-MS m/z calcd. for [M + Na]” C3,H3,05SNa: 551.1865. Found: 551.1863.
p-Tolyl 2,3,5-tri-O-benzoyl-6-O-trityl-1-thio-p-D-galactofuranoside (26). Prepared

from 25 (0.18 g, 0.33 mmol) in pyridine (5 mL) and benzoyl chloride (0.06 g, 0.21 mmol) as

Sl11



described for the synthesis of 23. The residue was purified by column chromatography (4:1
hexanes—EtOAc) to afford 25 (0.24 g, 87%) as an amorphous white solid. R, 0.62 (3:1
hexanes—EtOAc); [a]p —58.3 (¢ 1.0, CHCls); "H NMR (500 MHz, CDCl;, dy): 8.10 (dd, 4 H, J =
9.2, 7.2 Hz, Ar), 7.85 (dd, 2 H, J = 7.9, 0.8 Hz, Ar), 7.63-7.18 (m, 26 H, Ar), 7.02 (d, 2 H, J =
8.4 Hz, Ar), 5.90 (app dt, 1 H, J= 6.0, 4.5 Hz, H-5), 5.70 (d, 1 H, /= 0.7 Hz, H-1), 5.61-5.80 (m,
2 H, H-2, H-3), 5.10 (app t, 1 H, J = 4.5 Hz, H-4), 3.57 (dd, 1 H, J = 10.1, 6.0 Hz, H-6,), 3.43
(dd, 1 H, J=10.0, 6.0 Hz, H-6p), 2.32 (s, 3 H, ArCHs); "C NMR (125 MHz, CDCls, d¢): 165.7
(C=0), 165.4 (C=0), 165.3 (C=0), 143.6 (Ar), 138.0 (Ar), 133.5 (Ar), 133.3 (Ar), 133.2 (A1),
133.1 (Ar), 130.0 (Ar), 129.8 (Ar), 129.7 (Ar), 129.4 (Ar), 129.1 (Ar), 128.9 (Ar), 128.6 (Ar),
128.6 (Ar), 128.5 (Ar), 128.4 (Ar), 128.4 (Ar), 127.8 (Ar), 127.8 (Ar), 127.0 (Ar), 91.3 (C-1),
86.9 (PhsC), 82.4 (C-4), 81.3 (C-2), 78.0 (C-3), 72.1 (C-5), 62.9 (C-6), 21.2 (ArCH;). ESI-MS
m/z calcd. for [M + Na]" Cs3HysOsSNa: 863.2649. Found: 863.2648.

p-Tolyl 2,3,5-tri-O-benzoyl-1-thio-B-D-galactofuranoside (27) and  p-Tolyl
2,3,6-tri-0O-benzoyl-1-thio-B-D-galactofuranoside (28). Compound 26 (0.82 g, 0.98 mmol)
was dissolved in CH,Cl, (30 mL), cooled to 0 °C, and trifluoroacetic acid (5% in CH,Cl,) (13.0
mL) was added dropwise. The reaction mixture was stirred for 12 h, co-evaporated with
toluene and concentrated to give a syrup. The residue was purified by column chromatography
(5:1 hexanes—EtOAc) to give 27 (0.17 g, 33%) and 28 (0.23 g, 44%) as colorless syrups. Ry
0.40 (27) and Ry 0.25 (28) (3:1 hexanes-EtOAc); Data for 27: [a]p —79.8 (¢ 0.9, CHCl3); 'H

NMR (500 MHz, CDCl;, dy): 8.09 (dd, 4 H, J = 7.0, 6.8 Hz, Ar), 7.95 (d, 2 H, J = 8.0 Hz, Ar),

S12



7.61-7.29 (m, 11 H, Ar), 7.11 (d, 2 H, J = 8.0 Hz, Ar), 5.76 (d, 1 H, J= 0.9 Hz, H-1), 5.69-5.65
(m, 3 H, H-2, H-3, H-5), 4.92 (app t, 1 H, J = 4.7 Hz, H-4), 4.06 (app t, 2 H, J= 4.7 Hz, H-6,,
H-6), 2.33 (s, 3 H, ArCH;); *C NMR (125 MHz, CDCl;. d¢): 166.5 (C=0), 166.0 (C=0), 165.3
(C=0), 138.3 (Ar), 133.7 (Ar), 133.6 (Ar), 133.1 (A1), 130.0 (A1), 129.9 (A1), 129.9 (Ar), 129.8
(Ar), 129.7 (Ar), 129.4 (Ar), 129.0 (Ar), 128.9 (Ar), 128.6 (Ar), 128.5 (Ar), 128.4 (Ar), 91.9
(C-1), 83.1 (C-4), 81.8 (C-2), 78.2 (C-3), 73.3 (C-5), 62.6 (C-6), 21.1 (ArCH;). ESI-MS m/z
caled. for [M + Na]" C34H300sSNa: 621.1556. Found: 621.1554. Data for 28: [a]p 5.3 (¢ 0.9,
CHCl;): '"H NMR (500 MHz, CDCl; 8y): 8.11 (dd, 2 H, J = 6.5, 2.0 Hz, Ar), 8.04 (dd, 4 H, J =
13.0, 6.5 Hz, Ar), 7.64-7.37 (m, 11 H, Ar), 7.12 (d, 2 H, /= 7.5 Hz, Ar), 5.74 (d, | H, J= 1.8 Hz,
H-1), 5.73-5.72 (m, 2 H, H-2, H-3), 4.65 (dd, 1 H, J = 5.0, 2.5 Hz, H-4), 4.59-4.48 (m, 3 H,
H-6,, H-5, H-6), 2.33 (s, 3 H, ArCHs); *C NMR (125 MHz, CDCl;, 8¢): 166.5 (C=0), 166.0
(C=0), 165.3 (C=0), 138.3 (Ar), 133.7 (Ar), 133.5 (Ar), 133.3 (Ar), 130.0 (Ar), 130.0 (Ar),
129.89 (Ar), 129.87 (Ar), 129.78 (Ar), 129.73 (Ar), 129.4 (Ar), 128.95 (Ar), 128.90 (Ar), 128.58
(Ar), 128.55 (Ar), 128.4 (Ar), 92.0 (C-1), 83.2 (C-2), 81.8 (C-4), 78.2 (C-3), 69.0 (C-5), 66.1
(C-6), 21.1 (ArCH3). ESI-MS m/z caled. for [M + Na]® Cs34H300sSNa : 621.1556. Found:
621.1554.

Octyl 2,3,5,6-tetra-0O-benzoyl-B-D-galactofuranosyl)-(1—5)-2,3,6-tri-O-benzoyl-p-D-
galactofuranoside (30). Alcohol 14 (0.05 g, 0.08 mmol), thioglycoside 17 (0.06 g, 0.09 mmol),

and activated, powdered 4 A molecular sieves (200 mg) in CH,Cl, (3 mL) were cooled at 0 °C.

The reaction mixture was stirred for 15 min before N-iodosuccinimide (NIS, 0.03 g, 0.12 mmol),

S13



and AgOTf (4.0 mg, 0.02 mmol) were added. The solution was stirred for a further 30 min
before the reaction was quenched by the addition of EtsN. The reaction mixture was then
diluted with CH,Cl, and filtered through a pad of Celite. The filtrate was washed with a
saturated aqueous solution of Na,S,;0;, water and brine. The organic layer was then dried and
the solvent evaporated. @ The residue was purified by column chromatography (4:1
hexanes—EtOAc) to afford 30 (0.24 g, 87%) as a colorless oil. Ry 0.37 (5:1 hexanes—EtOAc);
[a]p —10.4 (¢ 1.0, CHCl;); "H NMR (400 MHz, CDCls, 8y): 8.02-7.93 (m, 8 H, Ar), 7.91-7.75
(m, 4 H, Ar), 7.62-7.52 (m, 7 H, Ar), 7.48-7.39 (m, 16 H, Ar), 6.08 (app dt, 1 H, J= 7.0, 3.6 Hz,
H-5%), 5.84 (dd, 1 H, J= 5.0, 1.4 Hz, H-3), 5.81 (s, 1 H, H-1°), 5.69 (d, 1 H, J = 1.2 Hz, H-2"),
5.63(dd, 1 H,J=5.1, 1.2 Hz, H-3"), 549 (dd, | H, J= 1.4, 0.6 Hz, H-2), 5.21 (br s, 1 H, H-1),
5.06 (dd, 1 H, J=5.1, 3.6 Hz, H-4), 4.79 (m, 5 H, H-6,, H-6,", H-5, H-6y, H-6,"), 4.53 (dd, 1 H,
J=5.0, 1.1 Hz, H-4), 3.72 (app dt, 1 H, J = 10.0, 6.0 Hz, octyl OCH), 3.47 (app dt, 1 H, J =
10.0, 6.0 Hz, octyl OCH,), 1.64—1.61 (m, 2 H, octyl CH,), 1.36-1.29 (m, 10 H, octyl CH>), 0.88
(t, 3 H, J = 7.0 Hz, octyl CHs); *C NMR (100 MHz, CDCls, 8¢): 166.1 (C=0), 166.0 (C=0),
165.7 (C=0), 165.7 (C=0), 165.5 (C=0), 165.4 (C=0), 165.2 (C=0), 133.38 (Ar), 133.36 (Ar),
133.24 (Ar), 133.20 (Ar), 133.1 (Ar), 133.04 (Ar), 133.02 (Ar), 133.0 (Ar), 132.9 (Ar), 130.0
(Ar), 129.93 (Ar), 129.90 (Ar), 129.8 (Ar), 129.75 (Ar), 129.70 (Ar), 129.6 (Ar), 129.0 (Ar),
128.90 (Ar), 128.87 (Ar), 128.5 (Ar), 128.4 (Ar), 128.3 (Ar), 128.2 (Ar), 128.1 (Ar), 105.5
(C-1°), 105.2 (C-1), 82.4 (C-2°), 82.1 (C-2), 82.0 (C-4"), 81.7 (C-4), 80.6 (C-3), 77.9 (C-3"), 77.3

(C-5), 77.1 (C-5"), 69.5 (C-6"), 67.8 (octyl OCHs,), 63.0 (C-6), 31.9 (octyl CHa), 29.6 (octyl CHy),

S14



29.4 (octyl CHy), 29.3 (octyl CHz), 26.1 (octyl CH;), 22.7 (octyl CHz), 14.11 (octyl CHj).
ESI-MS m/z calcd. for [M + Na]" CgoHesO1sNa: 1205.4123.  Found: 1205.4115.

Octyl 2,3,5,6-tetra-0-benzoyl-B-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-p-D-
galactofuranoside (31). Prepared from 13 (0.05 g, 0.08 mmol) and donor 17 (0.06 g, 0.09
mmol), NIS (0.03 g, 0.12 mmol), and AgOTf (4.0 mg, 0.02 mmol) in CH,Cl, (2 mL) as
described for the synthesis of 30. The residue was purified by column chromatography (4:1
hexanes—EtOAc) to give 31 (0.08 g, 89%) as a colorless oil. R,0.37 (5:1 hexanes—EtOAc); [a]p
—2.3 (¢ 1.0, CHCl3); "H NMR (400 MHz, CDCls, 8y): 8.20-7.99 (m, 8 H, Ar), 7.97-7.90 (m, 4 H,
Ar), 7.80 (dd, 2 H, J = 7.0, 2.0 Hz, Ar), 7.50-7.41 (m, 8 H, Ar), 7.35-7.26 (m, 8 H, Ar),
7.25-7.20 (m, 5 H, Ar), 6.08 (app dt, 1 H, /= 5.0, 3.6 Hz, H-5"), 5.92 (app dt, 1 H, J=5.0, 3.9
Hz, H-5), 5.64-5.58 (m, 3 H, H-3, H-3’, H-2), 5.45 (br s, 1 H, H-1°), 5.41 (dd, 1 H, J = 5.0, 1.0
Hz, H-2"), 5.28 (s, 1 H, H-1), 4.78 (dd, 1 H, J = 5.0, 3.4 Hz, H-4), 4.76-4.73 (m, 2 H, H-6,’,
H-65"), 4.70 (dd, 1 H,J=5.0, 3.6 Hz, H-4’), 4.23 (dd, 1 H, J=10.5, 5.0 Hz, H-6,), 4.06 (dd, 1 H,
J=10.5,5.0 Hz, H-6,), 3.75 (app dt, 1 H, J= 9.5, 7.0 Hz, octyl OCH>), 3.52 (app dt, 1 H, J=9.5,
7.0 Hz, octyl OCH>), 1.63—-1.40 (m, 2 H, octyl CH>), 1.28-1.40 (m, 10 H, octyl CH>), 0.89 (t, 3
H, J = 7.5, octyl CHs); “C NMR (100 MHz, CDCls, 8¢): 166.1 (C=0), 165.8 (C=0), 165.69
(C=0), 165.67 (C=0), 165.5 (C=0), 165.4 (C=0), 165.2 (C=0), 133.38 (Ar), 133.36, 133.2 (Ar),
133.19 (Ar), 133.1 (Ar), 133.07 (Ar), 133.04 (Ar), 133.02 (Ar), 132.97 (Ar), 132.9 (Ar), 130.0
(Ar), 129.93 (Ar), 129.90 (Ar), 129.8 (Ar), 129.75 (Ar), 129.70 (Ar), 129.6 (Ar), 129.0 (Ar),

128.89 (Ar), 129.87 (Ar), 128.5 (Ar), 128.4 (Ar), 128.3 (Ar), 128.2 (Ar), 128.1 (Ar), 106.5

S15



(C-1°), 105.8 (C-1), 82.2 (C-2°), 81.4 (C-2), 81.8 (C-4), 81.4 (C-4), 77.9 (C-3), 77.32 (C-3"),
77.30 (C-5), 77.1 (C-5%), 71.2 (C-6), 67.9 (octyl OCH»), 63.7 (C-67), 31.9 (octyl CH,), 29.6
(octyl CH2), 29.4 (octyl CH>), 29.3 (octyl CH>), 26.2 (octyl CH,), 22.7 (octyl CH,), 14.1 (octyl
CH3). ESI-MS m/z calcd. for [M + Na]" CeoHesO1sNa: 1205.4123.  Found: 1205.4117.

Octyl 2,3,5,-tri-O-benzoyl-B-L-arabinofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-p-D-
galactofuranoside (32). Prepared from 14 (35.3 mg, 0.06 mmol), donor 18 (40.8 mg, 0.08
mmoL), NIS (19.7 mg, 0.09 mmol), and AgOTf (3.0 mg, 0.01 mmol) in CH,Cl, (3 mL) as
described for the synthesis of 30. The residue was then purified by chromatography (6:1
hexanes—-EtOAc) to give disaccharide 32 (53.0 mg, 87%) as a colorless oil. R, 0.45 (3:1
hexanes—EtOAc); [a]p —10.9 (¢ 0.8, CHCl3); '"H NMR (400 MHz,CDCls, dy): 8.05-7.90 (m, 12
H, Ar), 7.61-7.21 (m, 18 H, Ar), 5.82 (dd, 1 H, J=4.2, 1.7 Hz, H-3), 5.73 (s, 1 H, H-1"), 5.70 (d,
1 H,J=14Hz H-2"),558(dd, 1 H,J=5.0, 1.4 Hz, H-3"), 5.48 (d, 1 H, J= 1.7 Hz, H-2), 5.22
(s, 1 H, H-1), 4.82 (app dt, 1 H, J = 5.0, 4.5 Hz, H-4"), 4.78-4.64 (m, 4 H, H-5,”, H-6,, H-6,,
H-5), 4.58-4.52 (m, 2 H, H-5,", H-4), 3.75 (app dt, 1 H, J=9.5, 7.0 Hz, octyl OCH>), 3.52 (app
dt, 1 H, J= 9.5, 7.0 Hz, octyl OCH>), 1.63-1.59 (m, 2 H, octyl CH>), 1.38-1.20 (m, 10 H, octyl
CHs), 0.89 (t, 3 H, J = 7.5 Hz, octyl CH3); *C NMR (100 MHz,CDCls, 8c): 166.2 (C=0), 166.1
(C=0),165.6 (C=0), 165.5 (C=0), 165.4 (C=0), 165.2 (C=0), 133.5 (Ar), 133.41 (Ar), 133.38
(Ar), 133.36 (Ar), 133.31 (Ar), 132.95 (Ar), 132.90 (Ar), 129.90 (Ar), 129.87 (Ar), 129.84 (Ar),
129.77 (Ar), 129.71 (Ar), 129.6 (Ar), 129.1 (A1), 129.0 (Ar), 128.9 (Ar), 128.5 (Ar), 128.4 (Ar),

128.36 (Ar), 128.3 (Ar), 128.27 (Ar), 128.2 (Ar), 106.0 (C-1), 105.6 (C-1°), 82.3 (C-2), 82.0

S16



(C-2°), 81.9 (C-4), 81.3 (C-4%), 77.8 (C-3), 77.4 (C-3’), 74.0 (C-5), 67.7 (C-5°), 64.7 (octyl
OCH,), 63.6 (C-6), 31.9 (octyl CH>), 29.6 (octyl CH>), 29.4 (octyl CH>), 29.3 (octyl CH>), 26.2
(octyl CHa), 22.7 (octyl CH,), 14.1 (octyl CH3). ESI-MS m/z caled. for [M + Na]®
Cs1HeoO16Na: 1071.3776.  Found: 1071.3773.

Octyl 2,3,5,-tri-O-benzoyl-B-L-arabinofuranosyl-(1— 6)-2,3,6-tri-O-benzoyl-p-D-
galactofuranoside (33). Prepared from 13 (52.9 mg, 0.09 mmol), donor 18 (61.2 mg, 0.11
mmol), NIS (29.5 mg, 0.13 mmol) and AgOTf (4.5 mg, 0.02 mmol) in CH,Cl, (3 mL) as
described for the synthesis of 30. The residue was then purified by chromatography (6:1
hexanes—-EtOAc) to give disaccharide 33 (82.0 mg, 89%) as colorless oil. Ry 0.43 (3:1
hexanes—EtOAc); [a]p —20.3 (c 1.1, CHCl;); 'H NMR (400 MHz, CDCl;, dy): 8.17-8.01 (m, 8 H,
Ar), 7.97-7.81 (m, 4 H, Ar), 7.60-7.22 (m, 18 H, Ar), 5.89 (app dt, 1 H, J = 6.5, 5.0 Hz, H-5),
5.63 (d, 1 H, J=6.0 Hz, H-3), 5.56 (d, 1 H, J=4.0 Hz, H-3"), 5.47-5.42 (m, 2 H, H-2, H-2"),
535(s, 1 H, H-1°), 5.29 (s, 1 H, H-1), 4.71-4.61 (m, 4 H, H-5,’, H-5;’, H-4, H-4), 4.23 (dd, 1 H,
J=11.0, 5.0 Hz, H-6,), 4.08 (dd, 1 H, /= 11.0, 5.0 Hz, H-6), 3.75 (app dt, 1 H, /= 9.5, 7.0 Hz,
octyl OCH>), 3.52 (app dt, 1 H, J =9.5, 7.0 Hz, octyl OCH,), 1.63-1.59 (m, 2 H, octyl CH>),
1.38-1.20 (m, 10 H, octyl CHs), 0.89 (t, 3 H, J = 7.5 Hz, octyl CH;); *C NMR (100 MHz,
CDCl, d¢): 166.1 (C=0), 165.8 (C=0), 165.7 (C=0), 165.5 (C=0), 165.1 (C=0), 165.2 (C=0),
133.4 (Ar), 133.4 (Ar), 133.3 (Ar), 133.2 (Ar), 133.1 (Ar), 133.0 (Ar), 132.98 (Ar), 132.95 (Ar),

130.0 (Ar), 129.9 (Ar), 129.89 (Ar), 129.83 (Ar), 129.80 (Ar), 129.7 (Ar), 129.2 (Ar), 129.0 (Ar),

128.9 (Ar), 128.5 (Ar), 128.40 (Ar), 128.37 (Ar), 128.35 (Ar), 128.31 (Ar), 128.2 (Ar), 106.1

S17



(C-1), 105.7 (C-1°), 82.2 (C-2), 82.0 (C-2°), 81.4 (C-4), 81.2 (C-4°), 77.7 (C-3), 77.4 (C-3’), 71.4
(C-5), 67.8. (C-6"), 66.1 (octyl OCH>), 63.5 (C-57), 31.9 (octyl CH»), 29.6 (octyl CH,), 29.4
(octyl CH»), 29.3 (octyl CH3), 26.2 (octyl CH»), 22.7 octyl (CH>), 14.1 (octyl CH3). ESI-MS
m/z caled. for [M + Na]" CgHeoO16Na: 1071.3776. Found: 1071.3773.

Octyl 6-0-acetyl-2,3,5-tri-O-benzoyl-B-D-galactofuranosyl-(1—5)-2,3,6-tri-O-
benzoyl-B-D-galactofuranoside (34). Prepared from 14 (0.19 g, 0.31 mmol), donor 16 (0.16 g,
0.25 mmol), NIS (67.7 mg, 0.30 mmol) and AgOTf (12.9 mg, 0.05 mmol) in CH,Cl, (10 mL) as
described for the synthesis of 30. The residue was purified by column chromatography (4:1
hexanes-EtOAc) to give disaccharide 34 (0.24 g, 89%) as a colorless oil. Ry 0.37 (3:1
hexanes-EtOAc); [a]p —2.6 (¢ 1.8, CHCls); "H NMR (500 MHz, CDCls, dy): 8.20-7.90 (m, 8 H,
Ar), 7.88-7.82 (m, 4 H, Ar), 7.58-7.16 (m, 18 H, Ar), 5.86 (app dt, 1 H, J= 6.5, 5.0 Hz, H-5"),
5.81(dd, 1 H,J=5.0, 1.0 Hz, H-3), 5.78 (s, 1 H, H-1"), 5.64 (d, 1 H, J= 1.4 Hz, H-2"), 5.54 (dd,
1 H, /=43, 12 Hz, H-3"), 549 (d, 1 H, J= 1.0 Hz, H-2), 5.21 (s, 1 H, H-1) 4.93 (dd, 1 H, J =
5.0, 4.3 Hz, H-4"), 4.78 4.74 (m, 3 H, H-6,, H-5, H-6y), 4.56-4.39 (m, 3 H, H-6,", H-6,’, H-4),
3.70 (app dt, 1 H, J=9.5, 6.0 Hz, octyl OCH>), 3.48 (app dt, 1 H, J=9.5, 6.0 Hz, octyl OCH>),
1.63-2.05 (s, 3 H, C(=0)CHs), 1.63-1.59 (m, 2 H, octyl CHs), 1.28-1.21 (m, 10 H, octyl CH),
0.89 (t, 3 H, J = 7.0 Hz, octyl CH3); >C NMR (125 MHz, CDCls, d¢): 170.4 (C=0), 166.1
(C=0), 165.6 (C=0), 165.6 (C=0), 165.5 (C=0), 165.4 (C=0), 165.2 (C=0), 133.4 (Ar), 133.3
(Ar), 133.2 (Ar), 133.1 (Ar), 133.0 (Ar), 129.92 (Ar), 129.90 (Ar), 129.8 (Ar), 129.7 (Ar), 129.6

(Ar), 129.5 (Ar), 129.1 (Ar), 129.0 (Ar), 128.9 (Ar), 128.8 (Ar), 128.71 (Ar), 128.69 (Ar),

S18



128.67 (Ar), 128.63 (Ar), 128.61 (Ar), 128.5 (Ar), 128.4 (Ar), 128.3 (Ar), 128.2 (Ar), 105.5
(C-17), 105.3 (C-1), 82.3 (C-27), 82.1 (C-2), 81.8 (C-4"), 81.7 (C-4), 77.7 (C-3), 77.1 (C-3”), 73.1
(C-57), 70.3 (C-5), 67.6 (octyl OCH>), 64.6 (C-6"), 62.9 (C-6), 31.9 (octyl CH,), 29.6 (octyl CH,),
29.4 (octyl CHy), 29.3 (octyl CH>), 26.2 (octyl CH), 22.7 (octyl CH,), 20.6 (C(=0O)CHj3), 14.1
(octyl CH3). ESI-MS m/z calcd. for [M + Na]" CesHesO15: 1143.3984.  Found: 1143.3985.
Octyl 2,3,5-tri-O-benzoyl-B-D-galactofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-p-D-
galactofuranoside (35) and Octyl 2,3,6-tri-O-benzoyl-B-D-galactofuranosyl-(1—5)-
2,3,6-tri-O-benzoyl-B-D-galactofuranoside (36). Compound 34 (0.23 g, 0.21 mmol) was
dissolved in CH,Cl; (5 mL) and 3% methanolic HCI (12.0 mL) and the reaction mixture was
stirred for 8 h. The solution was partially concentrated, diluted with CH,Cl, and was washed
with saturated NaHCOs, water, and brine. The organic layer was then dried and the solvent was
concentrated to a residue that was purified by column chromatography (4:1 hexanes-EtOAc) to
give disaccharide 35 (0.17 g, 75%) as a colorless oil.  Also isolated was 36 (0.05 g, 20%) as a
colorless oil. Data for 35: R;0.26 (3:1 hexanes—EtOAc); [a]p —20.8 (¢ 2.0, CHCl3); 'H NMR
(500 MHz, CDCl3, 0p): 8.20-7.90 (m, 8 H, Ar), 7.88-7.82 (m, 4 H, Ar), 7.59-7.42 (m, 8 H, Ar),
7.36-7.24 (m, 10 H, Ar), 5.83 (dd, 1 H, J=5.3, 1.1 Hz, H-3), 5.79 (br s, 1 H, H-1"), 5.69 (dd, 1
H,/=1.7,0.5 Hz, H-2"), 5.58 (dd, 1 H, J=4.2, 1.7 Hz, H-3"), 5.56-5.53 (m, 1 H, H-5), 5.50 (d,
1 H, J= 1.1 Hz, H-2), 5.24 (br s, 1 H, H-1), 5.02 (dd, 1 H, J = 6.0, 4.2 Hz, H-4), 4.78-4.66 (m,
3 H, H-5, H-6,, H-6), 4.52 (dd, 1 H, J = 5.3, 3.4 Hz, H-4), 4.06 3.92 (m, 2 H, H-6",, H-6),

3.74 (app dt, 1 H, J=9.0, 7.0 Hz, octyl OCH,), 3.48 (app dt, 1 H, J= 9.0, 7.0 Hz, octyl OCH,),

S19



1.63-1.59 (m, 2 H, octyl CH>), 1.29-1.23 (m, 10 H, octyl CH,), 0.85 (t, 3 H, J = 9.0 Hz, octyl
CHs); *C NMR (125 MHz, CDCl;, 8¢): 166.4 (C=0), 166.1 (C=0), 166.0 (C=0), 165.6 (C=0),
165.5 (C=0), 165.2 (C=0), 133.7 (Ar), 133.4 (Ar), 133.30 (Ar), 133.27 (Ar), 133.1 (Ar), 133.0
(Ar), 130.1 (Ar), 130.0 (Ar), 129.9 (Ar), 129.84 (Ar), 129.81 (Ar), 129.75 (Ar), 129.7 (Ar),
129.6 (Ar),129.0 (Ar), 128.9 (Ar), 128.9 (Ar), 128.8 (Ar), 128.51 (Ar), 128.46 (Ar), 128.35 (Ar),
128.33 (Ar), 128.30 (Ar), 128.2 (Ar), 105.6 (C-1°), 105.5 (C-1), 82.4 (C-2’), 82.1 (C-2), 81.9
(C-4), 81.6 (C-4"), 77.7 (C-3"), 77.5 (C-3), 73.5 (C-5"), 73.0 (C-5), 67.7 (octyl OCH,), 64.8
(C-6), 61.4 (C-6°), 31.8 (octyl CH3), 29.5 (octyl CH>), 29.44 (octyl CH,), 29.3 (octyl CH»), 26.2
(octyl CHy), 22.7 (octyl CHy), 14.2 (octyl CH3). ESI-MS m/z caled. for [M + Na]" CgHgrO17:
1101.3880. Found: 1101.3879. Data for 36: R; 0.25 (3:1 hexanes EtOAc); 'H NMR (500
MHz, CDCl, 8y) 8.20-7.90 (m, 10 H, Ar), 7.88-7.82 (m, 2 H, Ar), 7.59-7.26 (m, 16 H, Ar),
7.24-7.18 (m, 2 H, Ar), 5.83 (dd, 1 H, J=5.0, 1.0 Hz, H-3), 5.76 (s, 1 H, H-1°), 5.73 (d, 1 H, J=
1.8 Hz, H-2"), 5.67 (dd, 1 H, J= 5.0, 1.8 Hz, H-3"), 5.46 (d, 1 H, J= 1.3 Hz, H-2), 5.19 (s, 1 H,
H-1), 4.77-4.64 (m, 4 H, H-4>, H-6a, H-6’a, H-6’b), 4.53-4.47 (m, 3 H, H-4, H-5, H-6b),
4.41-4.64 (m, 1 H, H-5"), 3.74 (app dt, 1 H, J=9.0, 7.0 Hz, octyl OCH,), 3.48 (dt, 1 H, /= 9.0,
7.0 Hz, octyl OCH>), 1.63 (m, 2 H, octyl CH2), 1.29-1.23 (m, 10 H, 5 x octyl CH>), 0.85 (t, 3 H,
J = 9.0 Hz, octyl CH:); C NMR (125 MHz, CDCl;, d¢) 166.4 (C=0), 166.1 (C=0), 166.0
(C=0), 165.7 (C=0), 165.5 (C=0), 165.1 (C=0), 133.5 (Ar), 133.4 (Ar), 133.3 (Ar), 133.1 (Ar),
133.0 (Ar), 130.02 (Ar), 130.01 (Ar), 130.0 (Ar), 129.9 (Ar), 129.8 (Ar), 129.7 (Ar), 129.6 (Ar),

129.03 (Ar), 129.01 (Ar), 128.9 (A1), 128.6 (Ar), 128.55 (Ar), 128.49 (Ar), 128.4 (Ar), 128.3

S20



(Ar), 128.22 (Ar), 128.19 (Ar), 128.16 (Ar), 128.15 (Ar), 105.6 (C-1°), 105.5 (C-1), 83.6 (C2’),
82.1 (C-2), 81.8(C-4), 81.7 (C-4’), 77.7 (C-3"), 77.5 (C-3), 73.5 (C-5), 69.5 (C-57), 67.6 (octyl O
CH,), 66.2 (C-6), 64.6 (C-6), 31.8 (CH>), 29.5 (octyl CH>), 29.44 (octyl CH.), 29.3 (octyl CH>),
26.2 (octyl CH,), 22.7 (octyl CH>), 14.2 (octyl CH3). ESI-MS m/z calcd. for [M + Na]"
Ce2H620,7: 1101.3880. Found: 1101.3879.

Octyl 2,3,5,6-tri-0-benzoyl-B-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-p-D-
galactofuranosyl)-(1—5)-2,3,6-tri-O-benzoyl-B-D-galactofuranoside (37). Method 1:
Prepared from 35 (73.0 mg, 0.07 mmol), donor 17 (86.0 mg, 0.12 mmol), NIS (45.6 mg, 0.21
mmol) and AgOTf (3.5 mg, 0.01 mmol) in CH;Cl, (3 mL) as described for the synthesis of 30.
The residue was purified by column chromatography (5:1 hexanes—EtOAc) to give trisaccharide
37 (90.8 mg, 78%) as a colorless oil with the hydrolyzed donor eluting with the product (1:1
37-hydrolyzed donor ratio). Ry 0.22 (3:1 hexanes—EtOAc); One-pot method: Thioglycoside
acceptor 28 (79.2 mg, 0.14 mmol), donor 49 (117.2 mg, 0.16 mmol), and activated, powdered 4
A molecular sieves (200 mg) in CH,Cl, (10 mL) were cooled to 0 °C. The mixture was stirred
for 15 min, and TMSOTT (4.85 uL, 0.03 mmol) was slowly added. Donor consumption was
monitored by thin-layer chromatography and after stirring for 1 h, acceptor 14 (16.4 mg, 0.03
mmol) was added to the reaction mixture. This was followed by the addition of NIS (11.1 mg,
0.05 mmol), AgOTf (1.4 mg, 0.005 mmol). The reaction mixture was then stirred for 30 min,
neutralized with Et;N, diluted with CH,Cl, (5 mL) and filtered through Celite. The filtrate was

washed successively with a saturated aqueous solution of Na,S,0; (10 mL), saturated aqueous

S21



solution of NaHCOs, water, and brine. The organic layer was dried and concentrated. The
residue was purified by column chromatography (20:1 toluene—EtOAc) to give trisaccharide 37
(45.4 mg, 42%) as a colorless oil. R 0.40 (20:1 toluene—EtOAc); [a]p —15.2 (¢ 0.2, CHCI3); 'H
NMR (500 MHz, CDCls, 8y1): 8.01-7.92 (m, 16 H, Ar), 7.88-7.76 (m, 4 H, Ar), 7.59-7.17 (m, 24
H, Ar), 7.21-7.17 (m, 6 H, Ar), 6.11 (app dt, 1 H, J= 7.2, 3.9 Hz, H-5""), 5.98 (app dt, | H, J=
7.6, 4.8 Hz, H-5"), 5.82 (dd, 1 H, J= 5.1, 1.6 Hz, H-3"), 5.77 (s, 1 H, H-1°), 5.70 (dd, 1 H, J =
48,14 Hz H-3"),5.66(d, | H,J=1.4 Hz, H-2"), 5.63 (dd, 1 H, J=4.0, 1.5 Hz, H-3), 5.56 (d, 1
H,J= 1.6 Hz, H-2”), 533 (d, 1 H, J= 1.5 Hz, H-2), 5.25 (s, 1 H, H-1"), 5.23 (s, 1 H, H-1), 4.93
(app t, 1 H, J= 4.8 Hz, H-4"), 4.83-4.69 (m, 7 H, H-4"", H-5, H-6,, H-6, H-6,", H-6,", H-6,""),
4.53(dd, 1 H,J=15.0,4.0 Hz, H-4), 4.03 (dd, 1 H, J=11.5, 7.6 Hz, H-6,,”), 3.70 (app dt, | H,J=
9.5, 6.7 Hz, octyl OCH,), 3.47 (app dt, 1 H, J=19.5, 6.7 Hz, octyl OCH,), 1.58-1.53 (m, 2 H,
octyl CH,), 1.36-1.20 (m, 10 H, octyl CHa), 0.89 (t, 3 H, J= 7.5, octyl CH;); *C NMR (125
MHz, CDCls, 8¢): 166.1 (C=0), 166.0 (C=0), 165.9 (C=0), 165.8 (C=0), 165.71 (C=0), 165.70
(C=0), 165.6 (C=0), 165.54 (C=0), 165.52 (C=0), 165.4 (C=0), 133.5 (Ar), 133.4 (Ar), 133.3
(Ar), 133.21 (Ar), 133.19 (Ar), 133.18 (Ar), 133.12 (Ar), 133.06 (Ar), 133.02 (Ar), 133.0 (Ar),
132.8 (Ar), 130.1 (Ar), 130.0 (Ar), 129.94 (Ar), 129.91 (Ar), 129.90 (Ar), 129.85 (Ar), 129.81
(Ar), 129.77 (Ar), 129.75 (Ar), 129.71 (Ar), 129.67 (Ar), 129.58 (Ar), 129.51 (Ar), 129.2 (Ar),
129.1 (Ar), 129.0 (Ar), 128.93 (Ar), 128.91 (Ar), 128.89 (Ar), 128.8 (Ar), 128.52 (Ar), 128.5
(Ar), 128.42 (Ar), 128.40 (Ar), 128.37 (Ar), 12831 (Ar), 128.25 (Ar), 128.2 (Ar), 106.7 (C-1),

105.5 (C-17), 105.4 (C-1°), 82.5 (C-4’), 82.4 (C-4), 82.3 (C-4), 82.2 (C-2’), 82.0 (C-2”), 81.9

S22



(C-2), 77.9 (C-3), 77.5 (C-3), 77.4 (C-3), 73.1 (C-5), 71.7 (C-5"), 70.5 (C-57), 67.7 (C-6), 67.6
(octyl OCHz), 64.6 (C-67"), 63.6 (C-6), 31.9 (octyl CH>), 29.6 (octyl CHz), 29.4 (octyl CH,), 29.3
(octyl CH>), 26.2 (octyl CHa), 22.7 (octyl CH>), 14.1 (octyl CH3). ESI-MS m/z calcd. for [M +
Na]" CoHgsOa6: 1679.5413.  Found: 1679.5405.

Octyl 5-0-acetyl-2,3,6-tri-O-benzoyl-B-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-
benzoyl-B-D-galactofuranoside (38). Prepared from 13 (0.18 g, 0.30 mmol), donor 15 (0.25 g,
0.39 mmol), NIS (0.10 g, 0.45 mmol) and AgOTf (15.4 mg, 0.06 mmol) in CH,Cl, (5 mL) as
described for the synthesis of 30. The residue was purified by column chromatography (4:1
hexanes-EtOAc) to give disaccharide 38 (0.34 g, 99%) as a colorless oil. Ry 0.27 (3:1
hexanes—EtOAc); [a]p —2.5 (¢ 1.8, CHCls); "H NMR (500 MHz, CDCls, dy): 8.10-7.98 (m, 10 H,
Ar), 7.59-7.21 (m, 20 H, Ar), 5.89 (app dt, 1 H, J=7.5, 4.0 Hz, H-5’), 5.78 (app dt, 1 H, J=17.5,
4.0 Hz, H-5),5.60 (d, 1 H,J=4.9 Hz, H-3"), 547 (dd, 1 H,J=4.2, 1.0 Hz, H-3), 544 (d, 1 H, J
= 1.0 Hz, H-2), 541 (d, 1 H, J= 1.0 Hz, H-2), 5.36 (s, 1 H, H-1), 5.27 (s, 1 H, H-1"), 4.69—4.63
(m, 3 H, H-4, H-4’, H-6,), 4.60 (dd, 1 H, J=12.0, 7.5 Hz, H-6,), 4.19 (dd, 1 H, J=10.5, 7.5 Hz,
H-6,), 4.05 (dd, 1 H, J=10.5, 7.5 Hz, H-6%), 3.75 (app dt, 1 H, J = 9.5, 6.7 Hz, octyl OCH>),
3.47 (app dt, 1 H, J = 9.5, 6.7 Hz, octyl OCH,), 2.03 (s, 3 H, C(=0)CH3), 1.63-1.58 (m, 2 H,
octyl CHx), 1.28-1.24 (m, 10 H, octyl CH,), 0.89 (t, 3 H, J = 7.0 Hz, octyl CHs); >C NMR (100
MHz, CDCls, 8¢): 170.0 (C=0), 166.0 (C=0), 165.8 (C=0), 165.7 (C=0), 165.6 (C=0), 165.5
(C=0), 165.1 (C=0), 133.5 (Ar), 133.3 (Ar), 133.1 (Ar), 133.0 (Ar), 130.2 (Ar), 130.1 (Ar),

130.0 (Ar), 129.9 (Ar), 129.85 (Ar), 129.80 (Ar), 129.78 (Ar), 129.69 (Ar), 129.66 (Ar), 129.63

S23



(Ar), 129.2 (Ar), 129.1 (Ar), 129.0 (Ar), 128.9 (Ar), 128.6 (Ar), 128.5 (Ar), 128.4 (Ar), 128.39
(Ar), 128.36 (Ar), 128.34 (Ar), 106.2 (C-1), 105.7 (C-1°), 82.2 (C-2°), 81.6 (C-2), 81.5 (C-4),
81.4 (C-4’), 77.5 (C-3°), 77.3 (C-3), 71.5 (C-5"), 71.7 (C-5"), 69.8 (C-5), 67.8 (octyl OCH>), 66.3
(C-6), 63.5 (C-6’), 31.9 (octyl CHz), 29.6 (octyl CH>), 29.4 (octyl CH,), 29.3 (octyl CH,), 26.2
(octyl CH;), 22.7 (octyl CH,), 20.8 (C(=O)CH3), 14.1 (octyl CH3). ESI-MS m/z calced. for [M +
Na]" CesHgsO15: 1143.3984.  Found: 1143.3983.

Octyl 2,3,6-tri-O-benzoyl-p-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-B-D-
galactofuranoside (39). Prepared from 38 (0.34 g, 0.06 mmol) in CH,Cl, (20 mL) and 3%
methanolic HCI (17.35 mL) as described for the synthesis of 35. The residue was purified by
column chromatography (4:1 hexanes—EtOAc) to give disaccharide 39 (0.28 g, 85%) as a
colorless oil. Ry 0.29 (2:1 hexanes-EtOAc); [a]p =7.1 (¢ 0.3, CHCl); '"H NMR (500 MHz,
CDCls, dp): 8.20-7.90 (m, 8 H, Ar), 7.88-7.82 (m, 4 H, Ar), 7.58-7.22 (m, 18 H, Ar), 5.90 (app
dt, 1 H,J=5.9,4.5 Hz, H-5), 5.61 (dd, 1 H,J=3.7, 1.1 Hz, H-3"), 5.88 (dd, 1 H, /= 3.8, 0.7 Hz,
H-3), 5.44 (d, 1 H, J= 1.1 Hz, H-2"), 5.42 (d, 1 H, J= 0.7 Hz, H-2), 5.35 (s, 1 H, H-17), 5.26 (s,
1 H, H-1), 4.65 (dd, 1 H, J=4.5, 3.8 Hz, H-4), 4.59 (dd, 1 H, J=11.6, 6.9 Hz, H-6,"), 4.52 (dd,
| H,J =438, 3.7 Hz, H-4), 448-4.02 (m, 2 H, H-5°, H-6,"), 4.16 (dd, 1 H, /= 10.8, 5.9 Hz,
H-6,), 4.05 (dd, 1 H, J=10.8, 5.9 Hz, H-6y), 3.72 (app dt, 1 H, J = 9.4, 6.7 Hz, octyl OCH,),
3.50 (app dt, 1 H, J= 9.4, 6.7 Hz, octyl OCH>), 1.63-1.60 (m, 2 H, octyl CH>), 1.28-1.20 (m, 10
H, octyl CHs), 0.89 (t, 3 H, J = 7.0 Hz, octyl CHz); *C NMR (125 MHz, CDCls, d¢): 166.1

(C=0), 165.8 (C=0), 165.7 (C=0), 165.6 (C=0), 165.5 (C=0), 165.1 (C=0), 133.5 (Ar), 133.4

S24



(Ar), 133.3 (Ar), 133.3 (Ar), 133.03 (Ar), 133.0 (Ar), 129.9 (Ar), 129.83 (Ar), 129.79 (Ar),
129.71 (Ar), 129.2 (Ar), 129.1 (Ar), 129.0 (Ar), 128.7 (Ar), 128.5 (Ar), 128.44 (Ar), 128.44 (Ar),
128.3 (Ar), 127.7 (Ar), 126.9 (Ar), 106.4 (C-1), 105.7 (C-1), 82.6 (C-2), 82.1 (C-2°), 81.5 (C-4),
81.4 (C-4"), 78.0 (C-3"), 77.5 (C-3), 71.4 (C-5), 69.2 (C-5"), 66.4 (octyl OCH,), 66.3 (C-6), 61.4
(C-67), 31.9 (octyl CHz), 29.6 (octyl CHz), 29.4 (octyl CHz), 29.3 (octyl CHa), 26.2 (octyl CH>),
22.7 (octyl CHy), 14.1 (octyl CH3). ESI-MS m/z caled. for [M + Na]" CeHeO17: 1101.3881.
Found: 1101.3879.

Octyl 2,3,5,6-tri-O-benzoyl-B-D-galactofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-p-D-
galactofuranosyl)-(1—6)-2,3,5-tri-O-benzoyl-B-D-galactofuranoside (41). Method 1:
Prepared from 39 (60.7 mg, 0.06 mmol), donor 17 (99.30 mg, 0.14 mmol), NIS (31.6 mg, 0.14
mmol) and AgOTf (2.9 mg, 0.01 mmol) in CH,Cl, (2 mL) as described for the synthesis of 30.
The residue was purified by column chromatography (4:1 hexanes—EtOAc) to give trisaccharide
41 (90.8 mg, 91%) as a clear, colorless oil. R;0.22 (3:1 hexanes—EtOAc); One-pot method:
Thioglycoside acceptor 27 (46.2 mg, 0.08 mmol), donor 49’ (74.4 mg, 0.10 mmol), and activated,
powdered 4 A molecular sieves (200.0 mg) in CH,Cl, (7 mL) were cooled to 0 °C. The
suspension was stirred for 15 min before TMSOTf (4.85 uL, 0.03 mmol) was slowly added.
Donor consumption was monitored by thin-layer chromatography and after stirring for 1 h,
acceptor 13 (29.0 mg, 0.05 mmol) was added to the reaction mixture. This was followed by the
addition of NIS (16.2 mg, 0.07 mmol), AgOTf (2.5 mg, 0.01 mmol). The reaction mixture was

then stirred for 30 min, neutralized with Et;N, diluted with CH,Cl, (5 mL) and filtered through

S25



Celite. The filtrate was washed successively with a saturated aqueous solution of Na;S;0s3,
saturated aqueous solution of NaHCO;, water, and brine. The organic layer was dried,
concentrated and the residue was purified by column chromatography (20:1 toluene—EtOAc) to
give trisaccharide 41 (42.0 mg, 41%) as a clear colorless oil. R, 0.58 (15:1 toluene-EtOAc);
[a]p —15.2 (¢ 0.2, CHCl3); H NMR (500 MHz, CDCl3, 6y) 8.01-7.82 (m, 16 H, Ar), 7.59-7.17
(m,34 H, Ar), 6.05 (app dt, 1 H, J=6.5, 4.7 Hz, H-5""), 5.91 (app dt, 1 H, J= 7.0, 3.9 Hz, H-5),
5.83(dd, 1 H, J=5.1, 1.0 Hz, H-3"), 5.78 (s, | H, H-1""), 5.67 (d, 1 H, /= 1.0 Hz, H-2""), 5.62
(dd, 1 H, J=4.2, 1.0 Hz, H-3"), 5.60 (d, 1 H, J= 5.0 Hz, H-3), 5.46 (d, 1 H, J= 1.0 Hz, H-2"),
543 (d, 1 H,J=1.0 Hz, H-2), 533 (s, 1 H, H-1"), 5.27 (s, 1 H, H-1), 5.05(dd, 1 H, J=4.7, 4.2
Hz, H-4’’), 4.83—4.64 (m, 7 H, H-4’, H-5’, H-4, H-6a’, H-6b’, H-6a’’, H-6b’"), 4.18 (dd, 1 H, J=
10.6, 7.0 Hz, H-6a), 4.04 (dd, 1 H, J=10.6, 7.0 Hz, H-6b), 3.72 (app dt, 1 H, J=9.5, 6.7 Hz,
octyl OCH>), 3.50 (app dt, 1 H, J= 9.5, 6.7 Hz, octyl OCH,), 1.58-1.53 (m, 2 H, octyl CH>),
1.28-1.20 (m, 10 H, octyl CH>), 0.89 (t, 3 H, J= 7.0 Hz, octyl CH;); 13C NMR (125 MHz,
CDCl3, 8¢): 166.1 (C=0), 166.03 (C=0), 165.9 (C=0), 165.8 (C=0), 165.7 (C=0), 166.6 (C=0),
165.49 (C=0), 165.46 (C=0), 165.16 (C=0), 165.14(C=0), 133.5 (Ar), 133.4 (Ar), 133.3 (Ar),
133.28 (Ar), 133.24 (Ar), 133.20 (Ar), 133.2 (Ar), 133.1 (Ar), 133.07 (Ar), 133.02 (Ar), 133.0
(Ar), 132.90 (Ar), 132.85 (Ar), 130.0 (Ar), 129.95 (Ar), 129.93 (Ar), 129.82 (Ar), 129.80 (Ar),
129.71 (Ar), 129.66 (Ar), 129.7 (Ar), 129.67 (Ar), 129.6 (Ar), 128.9 (Ar), 128.86 (Ar), 128.80
(Ar), 128.5 (Ar), 128.42 (Ar), 128.40 (Ar), 128.34 (Ar), 128.31 (Ar), 128.2 (Ar), 128.1 (Ar),

106.1 (C-1), 105.7 (C-17), 105.3 (C-1°), 83.1 (C-4’), 82.9 (C-4”), 82.1 (C-4), 82.0 (C-2), 81.7

S26



(C-27), 81.44 (C-2), 77.8 (C-3°), 77.6 (C-3"), 77.5 (C-3), 73.1 (C-5), 71.7 (C-5), 70.5 (C-5"),
67.8 (C-6), 66.1 (octyl OCH,), 64.9 (C-6"’), 63.8 (C-6"), 31.9 (octyl CH2), 29.6 (octyl CH,),
29.4 (octyl CH»), 29.3 (octyl CH,), 26.2 (octyl CH,), 22.7 (octyl CHy), 14.1 (octyl CHa).
ESI-MS m/z calcd. for [M + Na]+ CosHgsOa6: 1679.5413. Found: 1679.5405.

Octyl 5-0-acetyl-2,3,6-tri-O-benzoyl-B-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-
benzoyl-B-D-galactofuranosyl)-(1—5)-2,3,6-tri-O-benzoyl-B-D-galactofuranoside (42).
Prepared from 35 (60.2 mg, 0.06 mmol), donor 15 (46.5 mg, 0.06 mmol), NIS (18.8 mg, 0.08
mmol) and AgOTf (2.8 mg, 0.01 mmol) in CH,Cl, (3 mL) as described for the synthesis of 30.
The residue was purified by column chromatography (5:1 hexanes—EtOAc) to give trisaccharide
42 (69.0 mg, 78%) as a colorless oil. R,0.28 (3:1 hexanes—EtOAc); [a]p —10.8 (¢ 1.5, CHCl;);
'H NMR (500 MHz,CDCls, dy) 8.20-7.90 (m, 14 H, Ar), 7.88-7.76 (m, 4 H, Ar), 7.59-7.32 (m,
21 H, Ar), 7.22-7.16 (m, 6 H, Ar), 595 (app dt, 1 H, J= 7.0, 4.3 Hz, H-5"), 5.82 (dd, 1 H, J =
5.3, 1.6 Hz, H-3"), 5.77 (s, 1 H, H-1°), 5.70 (app dt, 1 H, J= 7.9, 3.8 Hz, H-5”), 5.64 (dd, 1 H, J
=1.0, 0.5 Hz, H-2"), 5.60 (dd, 1 H, J=3.8, 1.0 Hz, H-3’), 5.49 (dd, 1 H, J = 1.6, 0.5 Hz, H-2"),
542 (dd, 1 H,J=5.1, 1.3 Hz, H-3), 5.33 (d, | H, J= 1.3 Hz, H-2), 5.21 (br s, I H, H-17), 5.19 (s,
1 H, H-1), 491 (dd, 1 H,J =43, 3.8 Hz, H-4"), 4.78-4.66 (m, 3 H, H-5, H-6,, H-6y), 4.62-4.58
(m, 2 H, H-4, H-6,7), 4.56-4.49 (m, 2 H, H-4”, H-6,"), 4.11 (dd, 1 H, J = 11.0, 7.9 Hz, H-6,"),
3.98 (dd, 1 H, J=11.0, 7.9 Hz, H-6,”), 3.70 (app dt, 1 H, J=9.5, 6.7 Hz, octyl OCH,), 3.47 (app
dt, 1 H, J=9.5, 6.7 Hz, octyl OCHs), 1.96 (s, 3 H, C(=0)CH), 1.58-1.53 (m, 2 H, octyl CH,),

1.34-1.26 (m, 10 H, octyl CHa), 0.89 (t, 3 H, J = 7.5 Hz, octyl CH3); >*C NMR (125 MHz,

S27



CDCls, d¢): 170.0 (C=0), 166.1 (C=0), 165.9 (C=0), 165.8 (C=0), 165.6 (C=0), 165.5 (C=0),
165.4 (C=0), 165.4 (C=0), 165.2 (C=0), 164.9 (C=0), 133.44 (Ar), 133.41 (Ar), 133.37 (Ar),
133.33 (Ar), 133.2 (Ar), 133.1 (Ar), 133.0 (A1), 132.95 (Ar), 132.9 (Ar), 132.8 (Ar), 130.0 (Ar),
129.89 (Ar), 129.88 (Ar), 129.82 (Ar), 129.79 (Ar), 129.77 (Ar), 129.71 (Ar), 129.67 (Ar),
129.66 (Ar), 129.2 (Ar), 129.1 (Ar), 129.0 (Ar), 128.9 (Ar), 128.5 (Ar), 128.5 (Ar), 128.4 (Ar),
128.4 (Ar), 128.3 (Ar), 128.3 (Ar), 128.3 (Ar), 128.2 (Ar), 128.1 (Ar), 106.6 (C-1), 105.5 (C-17),
105.4 (C-17), 82.4 (C-4’), 82.3 (C-4”), 82.0 (C-4), 81.8 (C-2°), 81.6 (C-2”), 81.5 (C-2), 77.9
(C-3%), 77.2 (C-3”), 77.2 (C-3), 73.1 (C-5), 71.7 (C-5"), 70.0 (C-57), 67.7 (C-6”), 67.6 (octyl
OCH,), 64.6 (C-6), 63.6 (C-6), 31.9 (octyl CHa), 29.6 (octyl CH), 29.4 (octyl CH,), 29.3 (octyl
CH,), 26.2 (octyl CH,), 22.7 (octyl CHy), 14.1 (octyl CHs), 2.05 (C(=0)CHs). ESI-MS m/z

calcd. for [M + Na]" Co;HggO26: 1617.5261. Found: 1617.5260.

S28



Octyl 2,3,6-tri-O-benzoyl-p-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-p-D-
galactofuranosyl)-(1—5)-2,3,6-tri-O-benzoyl-p-D-galactofuranoside (43). Prepared from 42
(20.0 mg, 0.01 mmol) in CH>Cl, (2 mL) and 3% methanolic HCI (0.73 mL) as described for the
synthesis of 35. The residue was purified by column chromatography (4:1 hexanes—EtOAc) to
give disaccharide 45 (18.0 mg, 92%) as a colorless oil.  R;0.09 (4:1 hexanes—EtOAc); [a]p —2.8
(¢ 1.5, CHCl3); "H NMR (500 MHz, CDCl;, dy): 8.20 7.90 (m, 16 H, Ar), 7.88 7.76 (m, 4 H,
Ar), 7.59-7.17 (m, 25 H, Ar), 595 (app dt, 1 H, J=7.0, 4.8 Hz, H-5"), 5.80 (dd, 1 H,J=4.2,1.0
Hz, H-3"), 5.77 (brs, 1 H, H-17), 5.63 (dd, 1 H, J= 1.5, 0.9 Hz, H-2), 5.57 (dd, 1 H, J=3.8, 1.5
Hz, H-3"), 553 (dd, 1 H,J=4.7, 1.2 Hz, H-3), 548 (d, 1 H, /= 1.0 Hz, H-2"), 537 (d, 1 H, J =
1.2 Hz, H-2), 5.22 (s, 1 H, H-17), 5.16 (s, 1 H, H-1), 4.89 (dd, 1 H, J = 4.8, 3.8 Hz, H-4"),
4.76-4.74 (m, 1 H, H-6,”), 4.73-4.68 (m, 2 H, H-5”, H-6,”), 4.53-4.49 (m, 2 H, H-4, H-6,), 4.44
(dd, 1 H,J=4.8,4.2 Hz, H-4”),4.41 (dd, 1 H, J=11.4, 7.2 Hz, H-6,,), 4.35 (app dt, 1 H, J=7.2,
3.4 Hz, H-5),4.08 (dd, 1 H,J=11.4, 7.0 Hz, H-6,’), 3.98 (dd, 1 H, J=11.4, 7.0 Hz, H-61,’), 3.69
(app dt, 1 H, J = 9.5, 6.3 Hz, octyl OCH>), 3.47 (app dt, 1 H, J = 9.5, 6.3 Hz, octyl OCH>),
1.63-1.60 (m, 2 H, octyl CH>), 1.28-1.20 (m, 10 H, octyl CH,), 0.89 (t, 3 H, J = 7.0 Hz, octyl
CHs); *C NMR (125 MHz, CDCl;, 8c): 166.4 (C=0), 166.1 (C=0), 166.0 (C=0), 165.8 (C=0),
165.7 (C=0), 165.5 (C=0), 165.4 (C=0), 165.2 (C=0), 164.9 (C=0), 133.42 (Ar), 133.4 (Ar),
133.33 (Ar), 133.1 (A1), 133.2 (Ar), 133.12 (Ar), 133.0 (Ar), 132.9 (Ar), 132.86 (Ar), 129.93
(Ar), 129.9 (Ar), 129.86 (Ar), 129.80 (Ar), 129.78 (Ar), 129.76 (Ar), 129.75 (Ar), 129.69 (Ar),

129.66 (Ar), 129.1 (Ar), 129.03 (Ar), 129.0 (Ar), 128.9 (Ar), 128.89 (Ar), 128.51 (Ar), 128.46

S29



(Ar), 128.43 (Ar), 128.36 (Ar), 128.28 (Ar), 128.26 (Ar), 128.15 (Ar), 106.8 (C-1°), 105.5 (C-17),
105.4 (C-1), 83.7 (C-4), 82.4 (C-4), 82.3 (C-47), 82.0 (C-27), 81.8 (C-27), 81.4 (C-2), 77.8
(C-37), 77.3 (C-3), 77.1 (C-3), 73.3 (C-5), 71.7 (C-5"), 69.3 (C-5"), 67.7 (C-6), 67.6 (C-6), 66.2
(C-6"), 64.7 (octyl OCHy), 31.9 (octyl CH), 29.6 (octyl CH>), 29.4 (octyl CH3), 29.3 (octyl
CH,), 26.2 (octyl CH»), 22.7 (octyl CH,), 14.1 (octyl CH3). ESI-MS m/z calcd. for [M + Na]’
Cs9Hg4075: 1575.5159.  Found: 1575.5157.

Octyl 2,3,5,6-tri-O-benzoyl-p-D-galactofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-
p-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-pB-D-galactofuranosyl-(1—5)-2,3,6-tri-O-
benzoyl-p-D-galactofuranoside (45). Method 1: Prepared from 43 (20.0 mg, 0.01 mmol),
donor 17 (18.1 mg, 0.03 mmol), NIS (4.3 mg, 0.02 mmol) and AgOTf (6.7 mg, 0.003 mmol) in
CH:Cl> (3 mL) as described for the synthesis of 30. The residue was purified by column
chromatography (2:1 hexanes—EtOAc) to give tetrasaccharide 45 (14.9 mg, 70%) as an oil. Ry
0.33 (15:1 toluene-EtOAc). Method 2: Prepared from 14 (5.6 mg, 0.01 mmol), donor 57
(23.0 mg, 0.01 mmol), activated, powdered A molecular sieves (50.0 mg), NIS (6.3 mg, 0.003
mmol) and AgOTf (1.2 mg, 0.0005 mmol) in CH,Cl, (7 mL) as described for the synthesis of 30.
The residue was purified by column chromatography (20:1 toluene-EtOAc) to give
tetrasaccharide 45 (13.8 mg, 70%) as an oil. R, 0.33 (15:1 toluene-EtOAc); [a]p -7.8 (¢ 0.1,
CHCL3); '"H NMR (500 MHz, CDCl;, 8y): 8.00-7.96 (m, 13 H, Ar), 7.90-7.79 (m, 15 H, Ar),
7.76-7.10 (m, 37 H, Ar), 5.99 (app dt, 1 H, J= 7.5, 5.3 Hz, H-5"""), 5.93 (app dt, 1 H, J = 8.0,

4.5 Hz, H-5"), 5.81 (dd, 1 H, J=5.0, 1.5 Hz, H-3"’), 5.77-5.76 (m, 3 H, H-3, H-1", H-1""7), 5.65

S30



(brs, 1 H, H-2"), 5.645 (br s, 1 H, H-2""), 5.61 (dd, 1 H, J=4.5, 1.3 Hz, H-3"), 5.59 (dd, 1 H, J
=4.5,1.3 Hz, H-3"), 5.48 (d, 1 H, J= 1.5 Hz, H-2"), 5.34 (d, 1 H, J = 1.5 Hz, H-2), 5.20 (s, 1
H, H-1"), 5.18 (s, 1 H, H-1),4.99 (dd, 1 H, J=5.3, 4.5 Hz, H-4’>), 490 (app t, 1 H, J = 4.5 Hz,

H-4’), 4.76-4.61 (m, 8 H, H-5"’, H-5, H-6,, H-6,,, H-6,"", H-6,’", H-6,""", H-6,,"""), 4.58 (dd, 1 H,

J=6.1,3.0 Hz, H-4), 450 (dd, 1 H, J = 5.3, 3.9 Hz, H-4”), 4.09 (dd, 1 H, J = 11.4, 5.9 Hz,
H-6,"), 3.97 (dd, 1 H, J= 11.4, 5.9 Hz, H-6,"), 3.67 (app dt, 1 H, J= 9.0, 6.5 Hz, octyl OCH,),
3.46 (app dt, 1 H, J=19.0, 6.5 Hz, octyl OCH>), 1.56-1.55 (m, 2 H, octyl CH,), 1.33-1.21 (m, 10
H, octyl CH,), 0.85 (t, 3 H, J = 6.9 Hz, octyl CHs); *C NMR (125 MHz, CDCls, d¢): 166.1
(C=0), 165.92 (C=0), 165.91 (C=0), 165.8 (C=0), 165.7 (C=0), 165.64 (C=0), 165.62 (C=0),
165.5 (C=0), 165.4 (2 x C=0), 165.2 (C=0), 165.1 (C=0), 165.07 (C=0), 133.4 (Ar), 133.3
(Ar), 133.25 (Ar), 133.2 (Ar), 133.1 (Ar), 133.05 (Ar), 133.0 (Ar), 132.94 (Ar), 132.9 (Ar),
132.8 (Ar), 129.93 (Ar), 129.9 (Ar), 129.81 (Ar), 129.79 (Ar), 129.76 (Ar), 129.69 (Ar), 129.66
(Ar), 129.6 (Ar), 129.2 (Ar), 129.0 (Ar), 128.91 (Ar), 128.89 (Ar), 128.72 (Ar), 128.5 (Ar),
128.4 (Ar), 128.36 (Ar), 128.3 (Ar), 128.25 (Ar), 128.21 (Ar), 128.17 (Ar), 128.1 (Ar), 128.08
(Ar), 106.6 (C-1°"), 105.49 (C-1°""), 105.46 (C-1°), 105.45 (C-1), 82.9 (C-4), 82.4 (C-4’), 82.3
(C-4>), 82.1 (C-4>’), 82.0 (C-2""), 82.0 (C-2°), 82.0 (C-27), 82.0 (C-2), 77.83 (C-3, C-3"""),
77.80 (C-3, C-3"), 73.2 (C-5""), 72.7 (C-5), 71.8 (C-5"""), 70.6 (C-5"), 67.6 (C-6"), 67.5 (octyl
OCH,), 65.2 (C-6"""), 64.7 (C-6), 63.8 (C-6"), 31.8 (octyl CH,), 29.5 (octyl CH,), 29.4 (octyl
CHz), 29.2 (octyl CH»), 26.1 (octyl CH,), 22.6 (octyl CHz), 14.1 (octyl CH3). ESI-MS m/z

calcd. for [M + Na]' Ci23H110034: 2155.169. Found: 2154.678.

S31



Octyl 6-0-acetyl-2,3,5-tri-O-benzoyl-p-D-galactofuranosyl-(1—5)-2,3,6-tri-O-
benzoyl-p-D-galactofuranosyl)-(1— 6)-2,3,5-tri-0-benzoyl-f-D-galactofuranoside (46).
Prepared from 39 (111.4 mg, 0.10 mmol), donor 16 (46.5 mg, 0.06 mmol), NIS (64.9 mg, 0.29
mmol) and AgOTf (5.3 mg, 0.02 mmol) in CH,Cl, (3 mL) as described for the synthesis of 30.
The residue was purified by column chromatography (4:1 hexanes—EtOAc) to give a mixture of
trisaccharide 46 and the hydrolyzed donor (1:1 46-hydrolyzed donor) as oil. R, 0.13 (3:1
hexanes-EtOAc). ESI-MS m/z caled. for [M + Na]' CgHgsOz%: 1617.5261. Found:
1617.5253.

Octyl 2,3,5-tri-O-benzoyl-B-D-galactofuranosyl-(1— 5)-2,3,6-tri-O-benzoyl-p-D-
galactofuranosyl-(1— 6)-2,3,6-tri—O-benzoyl-p-D-galactofuranoside (47). Prepared from
acetylated trisaccharide 46 (not isolated pure) (68.5 mg, 0.04 mmol) in 1.0 mL CH,Cl, (1.0 mL)
and 3% methanolic HCI (2.49 mL) as described for the synthesis of 35. The residue was
purified by column chromatography (4:1 hexanes—EtOAc) to give 47 (32.3 mg, 42% over two
steps) as a colorless oil. R, 0.17 (3:1 hexanes—EtOAc); [a]p —20.4 (¢ 0.8, CHCly); 'H NMR
(500 MHz, CDCl3, 6g): 8.20-7.90 (m, 12 H, Ar), 7.88-7.76 (m, 8 H, Ar), 7.59-7.22 (m, 25 H,
Ar), 595(ddd, 1 H, J=7.9, 5.0, 3.8 Hz H-5), 5.80 (dd, 1 H, J=5.3, 1.0 Hz, H-3"), 5.76 (s, 1 H,
H-17), 5.65 (d, 1 H, J= 1.0 Hz, H-2"), 5.58 (dd, 1 H, J= 6.1, 1.0 Hz, H-3), 553 (d, 1 H, J=4.8
Hz, H-3), 5.52 (app dt, 1 H, J = 7.6, 3.8 Hz, H-57), 5.43 (br s, 2 H, H-2"", H-2), 5.34 (s, 1 H,
H-1), 526 (s, 1 H, H-1""), 499 (dd, 1 H, J= 4.8, 3.8 Hz, H-4”), 4.77-4.65 (m, 5 H, H-4’, H-5’,

H-6y’, H-6,’, H-4), 4.18 (dd, 1 H, J=11.4, 7.9 Hz, H-6,), 4.05 (dd, 1 H, J=11.4, 7.9 Hz, H-6y),

S32



4.01 (dd, 1 H, J=11.4, 5.0 Hz, H-6,”), (dd, 1 H, J=11.4, 5.0 Hz, H-6,”), 3.69 (app dt, 1 H, J =
9.6, 6.3 Hz, octyl OCH,), 3.47 (app dt, 1 H, J = 9.6, 6.3 Hz, octyl OCH,), 1.63-1.60 (m, 2 H,
octyl CH,), 1.28-1.21 (m, 10 H, octyl H>), 0.89 (t, 3 H, J = 7.0, octyl CH3); ESI-MS m/z calcd.
for [M + Na]" CgoHgsOss: 1575.5160. Found: 1575.5158.

Octyl 2,3,5,6-tri-O-benzoyl-p-D-galactofuranosyl-(1— 6)-2,3,5-tri—-O-benzoyl-p-D-
galactofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-p-D-galactofuranosyl-(1— 6)-2,3,5-tri—O-
benzoyl-p-D-galactofuranoside (48). Prepared from 53 (11.4 mg, 0.02 mmol), donor 13 (46.8
mg, 0.03 mmol), activated, powdered 4 A molecular sieves (150.0 mg), NIS (12.8 mg, 0.06
mmol) and AgOTf (2.4 mg, 0.01 mmol) in CH,Cl, (15 mL) as described for the synthesis of 30.
The residue was purified by column chromatography (2:1 hexanes—EtOAc) to give
tetrasaccharide 48 (30.0 mg, 75%) as a colorless oil.  R;0.35 (15:1 toluene-EtOAc); [a]p —10.8
(c 0.1, CHCl;); '"H NMR (500 MHz, CDCl;, dy): 8.05-7.74 (m, 20 H, Ar), 7.52-7.15 (m, 45 H,
Ar), 6.01 (app dt, 1 H, J=7.5, 4.8 Hz, H-5"""), 5.93-5.90 (m, 2 H, H-5"", H-5"), 5.81 (dd, 1 H, J
=4.8,1.2 Hz, H-3"), 5.77 (s, 1 H, H-1""), 5.63 (dd, 1 H, J=1.2, 0.7 Hz, H-2""), 5.62 (dd, 1 H, J
=438, 1.2 Hz, H-3""), 558 (d, 1 H, /J=4.8 Hz, H-3), 5.54 (d, 1 H, J=4.8 Hz, H-3"""), 5.44 (d, 1
H,J=12Hz H-2’),543(d, 1 H,J=12Hz, H-2), 5323 (d, | H, J=1.2 Hz, H-1"""), 5.318 (d,
1 H,J=12Hz, H-2""), 526 (s, 1 H, H-1), 524 (s, 1 H, H-1"), 485 (app t, 1 H, J = 4.8 Hz,
H-4""), 4.73-4.67 (m, 6 H, H-4’>>, H-5, H-6,, H-6,, H-6,">", H-6,"""), 4.66 (dd, 1 H, J = 3.6, 4.8
Hz, H-4), 4.61 (dd, 1 H, J=5.4,3.0 Hz, H-4"), 4.16 (dd, 1 H, J=10.5, 5.2 Hz, H-6",), 4.12 (dd,

1 H,J=11.0, 6.0 Hz, H-6,""), 4.02 (dd, 1 H, J=10.5, 5.2 Hz, H-6%;), 3.97 (dd, 1 H, J=11.0, 6.0

S33



Hz, H-6,""), 3.72 (app dt, 1 H, J = 9.6, 6.6 Hz, octyl OCH,), 3.50 (app dt, 1 H, J = 9.6, 6.6 Hz,
octyl OCH,), 1.60-1.55 (m, 2 H, octyl CH,), 1.33-1.19 (m, 10 H, octyl CH,), 0.89 (t, 3 H, J =
7.2 Hz, octyl CH;); *C NMR (125 MHz, CDCls, d¢): 166.03 (C=0), 166.0 (C=0), 165.83
(C=0), 165.8 (C=0), 165.7 (C=0), 165.63 (C=0), 165.61 (C=0), 165.57 (C=0), 165.5 (C=0),
165.46 (C=0), 165.2 (C=0), 165.1 (C=0), 165.0 (C=0), 133.3 (Ar), 133.24 (Ar), 133.2 (Ar),
133.1 (Ar), 133.0 (Ar), 132.96 (Ar), 132.87 (Ar), 132.85 (Ar), 132.8 (Ar), 129.93 (Ar), 129.89
(Ar), 129.8 (Ar), 129.76 (Ar), 129.7 (Ar), 129.65 (Ar), 129.6 (Ar), 129.2 (Ar), 129.1 (Ar), 129.0
(Ar), 128.9 (Ar), 128.6 (Ar), 128.5 (A1), 128.47 (Ar), 128.42 (Ar), 128.4 (Ar), 128.35 (Ar),
128.32 (Ar), 128.3 (Ar), 128.25 (Ar), 128.22 (Ar), 128.17 (Ar), 128.12 (Ar), 106.7 (C-1), 106.1
(C-1"7"), 105.8 (C-177), 105.7 (C-17), 82.7 (C-4), 82.5 (C-4""), 82.1 (C-2), 81.9 (C-27), 81.84
(C-4"""), 81.83 (C-4"), 81.8 (C-27""), 81.4 (C-27), 77.7 (C-3""), 77.5 (C-3), 77.4 (C-3’"), 77.2
(C-37), 73.2 (C-5), 71.9 (C-57), 71.3 (C-5""), 70.5 (C-5"""), 67.74 (C-6"7), 67.7 (octyl OCHy),
66.1 (C-6), 65.1 (C-6"), 63.7 (C-6"), 31.8 (octyl CHa), 29.45 (octyl CHa), 29.4 (octyl CH,), 29.2
(octyl CH»), 26.1 (octyl CH3), 22.6 (octyl CH»), 14.1 (octyl CH3). ESI-MS m/z calcd. for [M +
Na]' C123H;10034: 2154.678.  Found: 2154.68.

p-Tolyl 2,3,5,6-tetra-0-benzoyl-B-D-galactofuranosyl-(1—6)-2,3,5-tri-O-benzoyl-
1-thio-B-D-galactofuranoside (50). Compound 27 (0.29 g, 0.48 mmol), donor 49’ (0.46 g,
0.62 mmol), and activated, powdered 4 A molecular sieves (0.57 g) in CH,Cl, (25 mL) were
cooled at 0 °C. The suspension was stirred for 15 min before TMSOT( (25.8 uL, 0.14 mmol)

was added dropwise. The reaction mixture was then stirred for 1 h, neutralized with Et;N,

S34



diluted with CH,Cl, and filtered through Celite. The filtrate was evaporated and the residue
was purified by column chromatography (20:1 toluene—EtOAc) to give disaccharide 50 (0.51 g,
90%) as an amorphous white solid. R;0.37 (20:1 toluene—EtOAc); [a]p —47.9 (¢ 0.7, CHCly);
'H NMR (500 MHz, CDCls, 8y): 8.06-8.03 (m, 8 H, Ar), 7.95 (dd, 2 H, J = 6.6, 4.0 Hz, Ar),
790 (dd, 2 H, J=8.4, 1.2 Hz, Ar), 7.78 (dd, 2 H, J= 8.4, 1.2 Hz, Ar), 7.55-7.26 (m, 23 H, Ar),
7.04 (d, 2 H, J = 8.0 Hz, Ar), 6.05 (app dt, 1 H, J=7.0, 3.7 Hz, H-5"), 5.93 (app dt, 1 H, J=6.3,
4.5 Hz, H-5),5.77 (d, 1 H, J=1.0 Hz, H-1), 5.67 (dd, 1 H, J=4.5, 2.4 Hz, H-3), 5.63 (dd, 1 H, J
=24, 1.0 Hz, H-2), 5.56 (dd, 1 H, J=5.0, 1.0 Hz, H-3), 5.42 (d, 1 H, J= 1.0 Hz, H-2"), 5.38 (s,
1 H, H-1°), 4.96 (app t, 1 H, J=4.5 Hz, H-4), 4.75-4.71 (m, 2 H, H-4’, H-6,"), 4.64 (dd, 1 H, J =
11.9, 7.0 Hz, H-6y"), 4.18 (dd, 1 H, J=10.3, 6.3 Hz, H-6,), 3.98 (dd, 1 H, J=10.3, 6.3 Hz, H-6y),
2.24 (s, 3 H, ArCH5); "*C NMR (125 MHz, CDCls, 8¢): 166.1 (C=0), 165.73 (C=0), 165.72
(C=0), 165.71 (C=0), 165.5 (C=0), 165.4 (C=0), 165.2 (C=0), 138.0 (Ar), 133.5 (Ar), 133.4
(Ar), 133.34 (Ar), 133.3 (Ar), 133.2 (Ar), 133.1 (Ar), 133.0 (Ar), 132.5 (Ar), 130.0 (Ar), 129.9
(Ar), 129.85 (Ar), 129.83 (Ar), 129.80 (Ar), 129.7 (Ar), 129.6 (Ar), 129.62 (Ar), 129.60 (Ar),
129.5 (Ar), 128.9 (Ar), 128.8 (Ar), 128.50 (Ar), 128.46 (Ar), 128.42 (Ar), 128.40 (Ar), 128.38
(Ar), 128.3 (Ar), 128.32 (Ar), 128.30 (Ar), 106.0 (C-17), 91.4 (C-1), 82.5 (C-2), 82.02 (C-4°),
82.0 (C-2°), 81.6 (C-4), 77.8 (C-3), 77.6 (C-3"), 71.0 (C-5), 70.3 (C-5"), 65.6 (C-6), 63.8 (C-6")
21.0 (ArCH3). ESI-MS m/z caled. for [M + Na]" CgsHs6017S: 1199.3130. Found: 1199.3128
2,3,5,6-Tetra-0-benzoyl-B-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-D-galacto-

furanose (51). To a solution of thioglycoside 50 (0.22 g, 0.18 mmol) in EtOAc (25 mL), was

S35



added NBS (0.35 g, 1.80 mmol) and water (5 mL). The reaction mixture was allowed to stir for
4 h and then a saturated aqueous solution of sodium Na,S;0; was added. The organic layer was
then washed with water, brine, dried and the solvent was evaporated. The crude product was
purified by column chromatography (20:1 toluene-EtOAc) to obtain 51 (0.15 g, 74%, o:pp = 1:3)
as an amorphous white solid. R, 0.26 (20:1 toluene-EtOAc). The material had the same
spectral properties as that reported previously.®

2,3,5,6-Tetra-0-benzoyl-p-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-D-galacto-
furanosyl tricholoroacetimidate (52). To a stirred solution of 51 (103.5 mg, 0.10 mmol) and
trichloroacetonitrile (48.5 uL, 0.50 mmol) in CH,Cl, (20 mL) cooled to 0 °C, was slowly added
DBU (7.21 uL, 0.05 mmol). The reaction mixture was stirred at rt for 2 h and then
concentrated at rt.  The residue was purified by column chromatography (30:1:0.3
toluene—EtOAc—Et;N) to furnish imidate 52 (85.0 mg, 85%, a: = 1:9) as an amorphous solid.
Rr0.60 (10:1 toluene—EtOAc). The material had the same spectral properties as that reported
previously.®

p-Tolyl 2,3,5,6-tetra-0-benzoyl-B-D-galactofuranosyl (1— 6)-2,3,5-tri-O-benzoyl-B-D-
galactofuranosyl-(1—>5)-2,3,6-tri-O-benzoyl-1-thio-B-D-galactofuranoside (53).  Prepared
from 28 (0.33 g, 0.27 mmol), donor 52 (0.12 g, 0.21 mmol), and activated, powdered 4 A
molecular sieves (0.35 g), TMSOTT (11.2 uL, 0.06 mmol) in CH>Cl, (25 mL) as described for
the synthesis of 50. The residue was purified by column chromatography (30:1 toluene-EtOAc)

to give trisaccharide 53 (0.26 g, 76%) as an amorphous white solid. R, 0.54 (30:1

S36



toluene—EtOAc); [a]p —40.7 (¢ 2.1, CHCl5); "H NMR (500 MHz, CDCls, dy;) 8.08-7.92 (m, 12 H,
Ar), 7.86 (dd, 2 H, J=8.5, 1.5 Hz, Ar), 7.81 (dd, 2 H, J=8.5, 1.5 Hz, Ar), 7.75 (dd, 2 H, J = 8.5,
1.5 Hz, Ar), 7.51-7.16 (m, 34 H, Ar), 7.05 (d, 2 H, J = 8.5 Hz, Ar), 6.02 (app dt, 1 H, J=7.5, 4.0
Hz, H-5"), 5.96-5.91 (m, 3 H, H-5°, H-2, H-3"), 5.76 (s, 1 H, H-1), 5.71 (d, 1 H, J= 2.5 Hz, H-
1°%), 5.68 (app t, 1 H, J = 2.5 Hz, H-2""), 5.66-5.63 (m, 2 H, H-5, H-3), 5.55 (dd, 1 H, J = 5.0,
1.0 Hz, H-3"), 5.34 (d, 1 H, J= 1.0 Hz, H-2’), 5.24 (s, 1 H, H-1°), 4.90 (dd, 1 H, J= 4.5, 4.5 Hz,
H-4), 4.79-4.67 (m, 6 H, H-4’, H-4>, H-6,’, H-6,", H-6,”, H-6,"), 4.09 (dd, 1 H, J = 11.0, 6.5
Hz, H-6,), 3.97 (dd, 1 H, J = 11.0, 6.5 Hz, H-6p), 2.37 (s, 3 H, ArCH;); °C NMR (125 MHz,
CDCls, d¢): 166.1 (C=0), 166.0 (C=0), 165.8 (C=0), 165.7 (C=0), 165.68 (C=0), 165.56
(C=0), 165.52 (C=0), 165.3 (C=0), 165.2 (C=0), 165.2 (C=0), 138.0 (Ar), 133.7 (Ar), 133.6
(A1), 133.52 (Ar), 133.48 (Ar), 133.3 (Ar), 133.29 (Ar), 133.22 (Ar), 133.19 (Ar), 133.12 (Ar),
133.08 (Ar), 133.05 (Ar), 133.02 (Ar), 133.0 (Ar), 132.93 (Ar), 132.89 (Ar), 132.88 (Ar), 132.7
(Ar), 130.1 (Ar), 130.0 (Ar), 129.9 (Ar), 129.82 (Ar), 129.8 (Ar), 129.76 (Ar), 129.72 (Ar),
129.68 (Ar), 129.6 (Ar), 129.5 (Ar), 128.9 (Ar), 128.8 (Ar), 128.6 (Ar), 128.54 (Ar), 128.50 (Ar),
128.32 (Ar), 128.3 (Ar), 128.26 (Ar), 128.24 (Ar), 128.22 (Ar), 106.7 (C-17), 105.8 (C-1""), 91.1
(C-1), 82.7 (C-2), 82.3 (C-27"), 82.0 (C-4°), 81.9 (C-2°), 81.9 (C-4"), 81.5 (C-4), 77.7 (C-3),
77.4 (C-3%), 77.3 (C-37), 73.7 (C-5’), 71.8 (C-5), 70.5 (C-5°), 67.5 (C-6°), 64.6 (C-6""), 63.8
(C-6), 21.1 (ArCH;). ESI-MS m/z caled. for [M + Na]' CosH730,5SNa: 1673.4445. Found:

1673.4441.

S37



p-Tolyl 2,3,5,6-tetra-0-benzoyl-p-D-galactofuranosyl-(1—5)-2,3,6-tri-0-
benzoyl-1-thio-B-D-galactofuranoside (54). Prepared from 28 (0.26 g, 0.43 mmol), donor 49’
(0.40 g, 0.53 mmol), and activated, powdered 4 A molecular sieves (0.40 g) and TMSOTT (15.43
uL, 0.06 mmol) in CH,Cl, as described for the synthesis of 50. The residue was purified by
column chromatography (30:1 toluene-EtOAc) to give disaccharide 54 (0.43 g, 86%) as an
amorphous white solid. Ry 0.25 (20:1 toluene-EtOAc); [a]p —37.8 (¢ 0.7, CHCl3); '"H NMR
(500 MHz, CDCl;, dy): 8.04-7.83 (m, 14 H, Ar), 7.58-7.22 (m, 23 H, Ar), 7.20 (d, 2 H, /=84
Hz, Ar), 6.01 (app dt, 1 H, J = 6.5, 4.5 Hz, H-5"), 5.90 (dd, 1 H, J = 3.0, 1.8 Hz, H-3), 5.77 (s, 1
H, H-1°), 5.71 (d, 1 H, J= 1.8 Hz, H-1), 5.68 (app t, 1 H, J= 1.8 Hz, H-2), 5.65 (d, 1 H, J=1.2
Hz, H-2’), 5.62 (dd, 1 H, J=4.5, 1.2 Hz, H-3"),4.99 (app t, | H, J=4.5 Hz, H-4"), 4.77 (dd, 1 H,
J =438, 3.0 Hz, H-4), 4.72-4.61 (m, 5 H, H-5, H-6,, H-6,, H-6,", H-61"), 2.28 (s, 3 H, ArCH;):
*C NMR (125 MHz, CDCl;, d¢): 166.1 (C=0), 165.9 (C=0), 165.7 (C=0), 165.5 (C=0), 165.5
(C=0), 165.3 (C=0), 165.2 (C=0), 138.1 (Ar), 133.52 (Ar), 133.5 (Ar), 133.3 (Ar), 133.1 (Ar),
133.0 (Ar), 132.9 (Ar), 132.8 (Ar), 130.0 (Ar), 129.9 (Ar), 129.83 (Ar), 129.8 (Ar), 129.72 (Ar),
129.7 (Ar), 129.68 (Ar), 129.66 (Ar), 129.6 (Ar), 129.55 (Ar), 129.4 (Ar), 128.85 (Ar), 128.8
(Ar), 128.76 (Ar), 128.53 (Ar), 128.5 (Ar), 128.4 (Ar), 128.3 (Ar), 128.23 (Ar), 128.21 (Ar),
105.4 (C-17),91.2 (C-1), 82.3 (C-4), 82.2 (C-47), 82.1 (C-2"), 81.5 (C-2), 77.8 (C-3), 77.1 (C-3°),
73.4 (C-5), 70.5 (C-5°), 64.4 (C-6"), 63.8 (C-6), 21.1 (ArCH;). ESI-MS m/z calcd. for [M +

Na]" CesHss017S: 1199.3130. Found: 1199.3128.

S38



2,3,5,6-Tetra-O-benzoyl-B-D-galactofuranosyl-(1—5)-2,3.5-tri-O-benzoyl-D-galacto-
furanose (55). Prepared from thioglycoside 54 (104.2 mg, 0.09 mmol), NBS (157.6 mg, 0.90
mmol), water (2 mL) in EtOAc (25 mL) as described for the synthesis of 51. The crude product
was purified by column chromatography to give 55 (68.0 mg, 72%, o: = 1:3) as a syrup. Ry
0.11 (15:1 toluene—EtOAc); [a]p —20.0 (¢ 1.0, CHCIls); The material had the same spectral
properties as that reported previously.”’
2,3,5,6-Tetra-0-benzoyl-p-D-galactofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-D-galacto-

furanosyl tricholoroacetimidate (56). To a stirred solution of 55 (48.0 mg, 0.04 mmol) and
trichloroacetonitrile (33.7 uL, 0.33 mmol) in CH,Cl, (5 mL) cooled to 0 °C, was slowly added
DBU (3.41 uL, 0.02 mmol). The reaction mixture was stirred at rt for 3 h and then
concentrated. The residue was purified by column chromatography (30:1:0.3
toluene—EtOAc—Et;N) to furnish imidate 56 (40.2 mg, 74%, a: = 1:9) as an amorphous solid.
Rr0.60 (10:1 toluene—EtOAc); Data for B-anomer: 'H NMR (CDCls, 500 MHz, dy) 8.76 (s, 1 H,
NH,), 8.06-7.16 (m, 35 H, Ar), 6.68 (br s, 1 H, H-1), 6.01 (app dt, 1 H, J = 6.5, 5.0 Hz, H-5"),
593 (dd, 1 H,J=3.0, 1.8 Hz H-3), 5.78 (s, | H, H-1"), 5.76 (app t, 1 H, J= 1.8 Hz, H-2), 5.62 (d,
| H,J=12Hz, H-2"), 556 (d, | H, J=4.8 Hz, H-3"), 499 (dd, | H, J = 5.0, 4.5 Hz, H-4"),
4.82-4.78 (m, 6 H, H-4, H-5, H-6,’, H-6,", H-6,, H-6); ?C NMR (125 MHz, CDCls, d¢): 166.0
(C=0), 165.6 (C=0), 165.6 (C=0), 165.44 (C=0), 165.42 (C=0), 165.40 (C=0), 165.0 (C=0),
160.4 (C=NH), 133.5 (Ar), 133.4 (Ar), 133.34 (Ar), 133.30 (Ar), 133.2 (Ar), 133.1 (Ar), 133.0

(Ar), 132.5 (Ar), 130.0 (A1), 129.9 (Ar), 129.82 (Ar), 129.81 (Ar), 129.80 (Ar), 129.7 (Ar),

S39



129.64 (Ar), 129.63 (Ar), 129.60 (Ar), 129.5 (Ar), 128.9 (Ar), 128.8 (Ar), 128.5 (Ar), 128.5 (Ar),
128.42 (Ar), 128.41 (Ar), 128.40 (Ar), 128.32 (Ar), 128.31 (Ar), 128.30 (Ar), 106.7 (C-I’), 105.1
(C-1), 83.4 (C-2), 81.8 (C-2°), 81.6 (C-4"), 80.9 (C-4), 77.5 (C-3), 76.9 (C-3°), 70.9 (C-5), 70.2
(C-57), 65.6 (C-6°), 63.9 (C-6). ESI-MS m/= caled. for [M + Na]” CesHso C1sNO,s: 1236.2030.
Found: 1236.2032.

p-Tolyl 2,3,5,6-tetra-0O-benzoyl-p-D-galactofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-
B-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-1-thio-B-D-galactofuranoside (57).
Prepared from 27 (13.7 mg, 0.02 mmol), donor 56 (36.2 mg, 0.03 mmol), activated, powdered 4
A molecular sieves (35.0 mg) and TMSOTS (1.24 uL, 0.006 mmol) in CH,Cl, (5 mL) as
described for the synthesis of 50. The residue was purified by column chromatography (30:1
toluene—EtOAc) to give trisaccharide 57 (27.2 mg, 72%) as an amorphous white solid. R, 0.33
(15:1 toluene—EtOAc); [a]p —8.3 (¢ 0.2, CHCl3); "H NMR (500 MHz, CDCls, dy): 8.08-7.92 (m,
9 H, Ar), 7.86 (dd, 2 H, J= 8.5, 1.5 Hz, Ar), 7.81 (dd, 2 H, J= 8.5, 1.5 Hz, Ar), 7.75 (dd, 2 H, J
=8.5, 1.5 Hz, Ar), 7.51-7.16 (m, 37 H, Ar), 7.05 (d, 2 H, J = 8.5 Hz, Ar), 6.04 (app dt, 1 H, J =
7.5,4.5 Hz, H-57"), 5.91 (app dt, 1 H, /= 6.5, 4.4 Hz, H-5), 5.80 (br s, 2 H, H-1"", H-3"), 5.73 (d,
1 H,J=15Hz H-1),5.69(d, | H,J=1.5Hz, H-2""), 5.64 (dd, 1 H, J= 4.4, 1.5 Hz, H-3), 5.62
(app t, 1 H, J= 1.5 Hz, H-2), 5.61 (dd, 1 H, J=3.5, 1.5 Hz, H-3""), 546 (d, | H, /= 1.3 Hz,
H-2"), 5.28 (s, 1 H, H-17), 5.06 (dd, 1 H, J = 4.5, 3.5 Hz, H-4’"), 491 (app t, 1 H, J = 4.4 Hz,
H-4), 4.76 (dd, 1 H, J = 12.0, 7.5 Hz, H-6,”), 4.71-4.64 (m, 4 H, H-5", H-6,”, H-6,’, H-6y"),

459 (dd, 1 H, J=4.7,3.5 Hz, H-4’), 4.14 (dd, 1 H, J=10.2, 6.5 Hz, H-6,), 3.93 (dd, 1 H, J =

S40



10.2, 6.5 Hz, H-63), 2.20 (s, 3 H, ArCH;); °C NMR (125 MHz, CDCl3, d¢): 166.0 (C=0), 166.0
(C=0), 165.9 (C=0), 165.69 (C=0), 165.67 (C=0), 165.5 (C=0), 165.5 (C=0), 165.3 (C=0),
165.2 (C=0), 165.1 (C=0), 137.0 (Ar), 133.4 (Ar), 133.35 (Ar), 133.26 (Ar), 133.2 (Ar), 133.14
(Ar), 133.1 (Ar), 133.0 (Ar), 132.9 (Ar), 132.86 (Ar), 132.3 (Ar), 130.1 (Ar), 130.0 (Ar), 129.96
(Ar), 129.93 (Ar), 129.84 (Ar), 129.82 (Ar), 129.82 (Ar), 129.8 (Ar), 129.72 (Ar), 129.68 (Ar),
129.67 (Ar), 129.63 (Ar), 129.6 (Ar), 129.0 (Ar), 128.92 (Ar), 128.9 (Ar), 128.83 (Ar), 128.8
(Ar), 128.5 (Ar), 128.43 (Ar), 128.41 (Ar), 128.34 (Ar), 128.3 (Ar), 128.2 (Ar), 128.1 (Ar),
105.9 (C-17), 105.2 (C-17), 91.3 (C-1), 83.2 (C-4), 82.5 (C-2), 82.1 (C-2""), 81.9 (C-4""), 81.7
(C-4), 81.5 (C-27), 77.9 (C-3), 77.8 (C-3), 77.6 (C-3°), 72.6 (C-5"), 70.9 (C-5""), 70.6 (C-5),
65.5 (C-6), 65.0 (C-6’), 63.8 (C-6), 29.8 (ArCH3). ESI-MS m/z caled. for [M + Na]’
CosH73025S: 1673.4445. Found: 1673.4441.

Octyl 2,3-Isopropylidene-a-L-rhamnopyranosyl-(1— 3)-2-acetamido-4,6-0-
benzylidene-2-deoxy-a-D-glucopyranoside (58). To a solution of 62 (50.0 mg, 0.09 mmol) in
acetone (5 mL) was added 2,2-dimethoxypropane (27.03 uL, 0.22 mmol) and
(15)-(+)-camphorsulfonic acid (2.1 mg, 0.009 mmol). After 3 h of stirring, the pH of the
solution was adjusted to 7 by adding Et;N. Concentration gave a crude oil that was
subsequently dissolved in CH,Cl, (10 mL), washed with a saturated aqueous solution of
NaHCOs; and water. The organic layer was dried, concentrated to an oil and the residue was
purified by column chromatography (2:1 hexanes—EtOAc) to furnish 58 (46.0 mg, 86%) as an

amorphous white solid. R;0.59 (10:1 CH,Cl,-MeOH); [a]p +2.6 (¢ 0.5, CHCl3); '"H NMR (500

S41



MHz, CDCls, dy): 7.48-7.46 (m, 2 H, Ar), 7.35-7.33 (m, 3 H, Ar), 5.69 (d, 1 H, J = 10.0 Hz,
NH), 5.51 (s, 1 H, PhCH), 5.05 (s, 1 H, H-1°), 4.71 (d, 1 H, J = 3.8 Hz, H-1), 4.40 (app dt, 1 H, J
=10.0, 3.8 Hz, H-2), 4.27 (app t, 1 H, J=10.0 Hz, H-3),4.10 (d, 1 H, /= 6.5 Hz, H-2’), 4.01 (dd,
1 H,J=73, 6.5 Hz, H-3"),3.99 (app t, 1 H, J =10.0 Hz, H-4), 3.88-3.68 (m, 4 H, H-6,, H-6y,
H-5", octyl OCH>), 3.59 (app dt, 1 H, J = 10.0, 5.0 Hz, H-5), 3.40 (app dt, 1 H, J= 9.8, 6.6 Hz,
octyl OCH>), 3.25 (dd, 1 H, J=10.0, 7.3 Hz, H-4"), 2.02 (s, 3 H, C(=0)CH), 1.62-1.60 (m, 2 H,
octyl OCH,), 1.47 (s, 3 H, 1sopropylidene CHs), 1.32-1.26 (m, 13 H, octyl CH,, isopropylidene
CHs), 0.90 (t, 3 H, J = 6.9 Hz, octyl CHs), 0.80 (d, 3 H, J = 6.2 Hz, H-6’); °C NMR (125 MHz,
CDCls, 8¢): 169.8 (C=0), 137.1 (Ar), 129.1 (Ar), 128.1 (Ar), 126.3 (Ar), 109.3 ((CHz),C), 102.0
(PhCH), 98.3 (C-1), 98.2 (C-1), 80.0 (C-4), 78.1 (C-3), 75.9 (C-27), 75.0 (C-37), 74.5 (C-4’),
68.9 (C-6), 68.3 (octyl OCH,), 66.1 (C-5), 63.2 (C-5), 53.6 (C-2), 31.8 (octyl CH,), 29.4 (octyl
CHz), 29.3 (octyl CHy), 29.2 (octyl CH3), 27.9 (isopropylidene ('H3), 26.2 (octyl CHz), 26.1
(isopropylidene CH3), 23.4 (C(=0O)CHs;), 22.6 (octyl CH,), 16.8 (C-6’), 14.1 (octyl CHj).
ESI-MS m/z calcd. for [M + Na] C3;,H4NOj: 630.3249. Found: 630.3249.

Octyl 2,3,4-tri-0-acetyl-o.-L-rhamnopyranosyl-(1—3)-2-acetamido-4,6-0-
benzylidene-2-deoxy-o.-D-glucopyranoside (61). Prepared from 59'° (0.13 g, 0.31 mmol),
donor 60" (0.13 g, 0.40 mmol), activated, powdered 4 A molecular sieves (365.0 mg), NIS (0.10
g, 0.46 mmol) and AgOTf (15.7 mg, 0.06 mmol) in CH>Cl, (10 mL) as described for the
synthesis of 30. The residue was purified by column chromatography (1:1 hexanes—EtOAc) to

afford disaccharide 61 (0.19 g, 89%) as an amorphous white solid. R, 0.28 (1:1

S42



hexanes—EtOAc); [a]p +32.5 (¢ 0.5, CHCl3); "H NMR (500 MHz, CDCls, dy): 7.52-7.50 (m, 2
H, Ar), 7.39-7.34 (m, 3 H, Ar), 563 (d, 1 H,.J=10.0 Hz, NH), 5.56 (s, 1 H, PhCH), 5.32 (dd, 1
H, J=10.0, 3.5 Hz, H-3"),4.98 (dd, 1 H, J= 3.5, 1.7 Hz, H-2"), 4.95-4.91 (m, 2 H, H-1", H-4"),
471 (d, 1 H, J= 3.6 Hz, H-1), 4.42 (app dt, 1 H, J = 10.0, 3.6 Hz, H-2), 4.26 (app dt, 1 H, J =
10.0, 4.5 Hz, H-5), 4.08-4.05 (m, 1 H, H-5"), 3.88 (app t, 1 H, J=10.0 Hz, H-3), 3.83 (dd, 1 H, J
=10.0, 4.5 Hz, H-6,), 3.76 (app t, 1 H, J=10.0 Hz, H-4), 3.71-3.65 (m, 2 H, H-6y, octyl OCH>),
3.38 (app dt, 1 H, J = 9.8, 6.7 Hz, octyl OCH>), 2.09 (s, 3 H, C(=0)CH;), 2.06 (s, 3 H,
C(=0)CHs), 1.98 (s, 3 H, C(=0)CHs), 1.96 (s, 3 H, C(=0)CH5), 1.61-1.58 (m, 2 H, octyl CH,),
1.32-1.24 (m, 10 H, octyl CH>), 0.89 (t, 3 H, J = 7.0 Hz, octyl CH3), 0.69 (d, 3 H, J = 6.5 Hz,
H-6"); "C NMR (125 MHz, CDCl3, d¢): 170.3 (C=0), 170.1 (C=0), 170.0 (C=0), 169.8 (C=0),
137.2 (Ar), 129.1 (Ar), 128.1 (Ar), 126.4 (Ar), 102.0 (PhCH), 98.3 (C-1), 97.8 (C-1°), 80.3 (C-4),
76.0 (C-3), 71.5 (C-47), 70.9 (C-2"), 69.0 (C-6), 68.5 (C-37), 68.3 (octyl OCH,), 66.3 (C-5"), 63.1
(C-5), 53.0 (C-2), 31.8 (octyl CHaz), 29.4 (octyl CHz), 29.3 (octyl C'H>), 29.2 (octyl CH,), 26.2
(octyl CH,), 22.6 (octyl CH,), 20.9 (2 x C(=0)CHj3), 20.7 (C(=O)CH3), 16.6 (C-6"), 14.1 (octyl
CH3). ESI-MS m/z caled. for (M + H') C35sHs2NO,3: 694.3433.  Found: 694.3408.

Octyl  a-L-rhamnopyranosyl-(1—3)-2-acetamido-4,6-0-benzylidene-2-deoxy-o.-D-
glucopyranoside (62). Prepared from 61 (88.5 mg, 0.13 mmol) in 3:1 MeOH-CH,Cl, (5 mL)
and NaOMe in MeOH (0.1 M) as described for the synthesis of 24. The residue was purified by
column chromatography (9:1 CH,Cl,-MeOH) to afford 62 (52.0 mg, 72%) as an amorphous

solid. R;0.24 (10:1 CH,Cl,-MeOH); [a]p +3.9 (¢ 0.3, MeOH); 'H NMR (500 MHz, CD;0D,

S43



dn): 7.52-7.50 (m, 2 H, Ar), 7.39-7.34 (m, 3 H, Ar), 5.58 (s, 1 H, PhCH), 4.81 (brs, 1 H, H-1"),
4.71 (d, 1 H,J=3.7 Hz, H-1), 4.22-4.18 (m, 2 H, H-2, H-4), 3.90 (app t, | H, /= 9.4 Hz, H-3),
3.86-3.70 (m, 3 H, H-5, H-5", octyl OCH>), 3.67 (dd, 1 H, J= 3.4, 1.8 Hz, H-2’), 3.65-3.61 (m,
2 H, H-3’, H-4’), 3.57 (dd, 1 H, J = 9.6, 3.4 Hz, H-6,), 3.45 (app dt, 1 H, /= 9.8, 6.4 Hz, octyl
OCH,), 3.23 (app t, 1 H, J = 9.6 Hz, H-6;,), 2.00 (s, 3 H, C(=0)CH;), 1.69-1.64 (m, 2 H, octyl
CH,), 1.43-1.28 (m, 10 H, octyl CH>), 0.90 (t, 3 H, J = 6.8 Hz, octyl CH3), 0.70 (d, 3 H, J=6.4
Hz, H-6’); C NMR (125 MHz, CD;0D, d¢): 173.4 (C=0), 139.1 (Ar), 130.0 (Ar), 129.1 (Ar),
127.7 (Ar), 103.3 (PhCH), 102.6 (C-1), 99.6 (C-1°), 81.9 (C-4), 76.7 (C-3), 73.8 (C-4’), 72.5
(C-2%), 72.2 (C-6), 69.9 (C-3’), 69.8 (octyl OCH,), 69.4 (C-5’), 64.5 (C-5), 55.3 (C-2), 33.0
(octyl CHy), 30.52 (octyl (C'Hz), 30.51 (octyl CHz), 30.4 (octyl CH,), 27.3 (octyl CH>), 23.7
(octyl CHy), 22.6 (C(=0)CH3), 17.6 (C-6"), 14.4 (octyl CH3). ESI-MS m/z caled for [M + Na]"
C290H4sNOjgNa: 590.2936. Found. 590.2933.

Octyl 2,3,4,5-tetra-0O-benzoyl-B-D-galactofuranosyl-(1—4)-2,3-isopropylidene-o-L-
rhamnopyranosyl-(1— 3)-2-acetamido-4,6-0-benzylidene-2-deoxy-o.-D-glucopyranoside
(63). Prepared from 58 (44.8 mg, 0.07 mmol), donor 17 (56.9 mg, 0.08 mmol), activated,
powdered 4 A molecular sieves (70.0 mg), NIS (24.9 mg, 0.11 mmol) and AgOTf (3.8 mg, 0.01
mmol) in CH,Cl, (5 mL) as described for the synthesis of 30. The residue was purified by
column chromatography (10:1 toluene-EtOAc) to give trisaccharide 63 (74.0 mg, 85%) as an
amorphous white solid. R, 0.18 (10:1 toluene-EtOAc); [a]p —32.4 (¢ 1.0, CHCly); 'H NMR

(500 MHz, CDCls, 8y): 8.03-7.92 (m, 8 H, Ar), 7.57-7.25 (m, 15 H, Ar), 7.25-7.16 (m, 2 H, Ar),

S44



6.05 (app dt, 1 H, J = 7.5, 4.8 Hz, H-5""), 5.78 (s, 1 H, H-1""), 5.70 (d, 1 H, J = 10.0 Hz, NH),
558 (dd, 1 H, J=4.8, 1.0 Hz, H-3"), 5.53 (d, 1 H, J = 5.0 Hz, PhCH), 5.52 (d, 1 H, J= 1.0 Hz,
H-27), 5.10 (s, 1 H, H-1"), 4.73-4.71 (m, 3 H, H-1, H-6,”, H-6,"), 4.59 (app t, | H, J= 4.8 Hz,
H-4%), 4.42 (app dt, 1 H, J= 10.0, 3.7 Hz, H-2), 4.31-4.26 (m, 2 H, H-3, H-5), 4.09-4.06 (m, 1
H, H-2’), 4.02-3.93 (m, 2 H, H-3, H-6,), 3.85(dd, 1 H, J=9.7, 4.4 Hz, H-6;,), 3.78-3.69 (m, 2 H,
H-5’, octyl OCH>), 3.64-3.53 (m, 2 H, H-4, H-4"), 3.41 (app dt, 1 H, J = 9.5, 6.7 Hz, octyl
OCH;), 3.33 (s, 3 H, C(=0)CHs;), 1.67-1.63 (m, 2 H, octyl CH>), 1.48 (s, 3 H, isopropylidene
CH;), 1.35-1.25 (m, 13 H, isopropylidene CHj3, octyl CH>), 0.92 (t, 3 H, J = 6.9 Hz, octyl CHs),
0.82 (d, 3 H, J = 6.2 Hz, H-6’): ®C NMR (125 MHz, CDCls, 8¢): 169.8 (C=0), 166.0 (C=0),
165.7 (2 x C=0), 165.3 (C=0), 137.1 (Ar), 133.4 (Ar), 133.3 (Ar), 133.2 (Ar), 133.0 (Ar), 130.0
(Ar), 129.9 (Ar), 129.8 (Ar), 129.7 (Ar), 129.5 (Ar), 129.4 (Ar), 129.1 (Ar), 129.0 (Ar), 128.9
(Ar), 128.5 (Ar), 128.4 (Ar), 128.3 (Ar), 128.0 (Ar), 126.2 (Ar), 109.4 ((CH3).(), 104.1 (C-1"7),
101.7 (PhCH), 98.2 (C-1), 98.0 (C-1), 82.2 (C-27), 81.5 (C-4""), 80.0 (C-4), 78.1 (C-3""), 77.7
(C-3%), 76.5 (C-2°), 76.2 (C-3), 74.9 (C-4"), 70.4 (C-5""), 68.9 (C-6), 68.3 (octyl OCH,), 64.4
(C-5), 63.4 (C-6), 63.2 (C-5"), 53.6 (C-2), 31.8 (octyl CHz), 29.4 (octyl CHz), 29.3 (octyl CH,),
29.24 (octyl CH,), 29.21 (octyl CH,), 27.8 (C(=O)CHj3), 26.4 (isopropylidene CHj), 26.2
(isopropylidene CHj3), 22.7 (octyl CH,), 17.2 (C-67), 14.1 (octyl CH3). ESI-MS m/z calcd. for
(M + Na) CesH7sNO9Na: 1208.4826. Found: 1208.4831.

Octyl 2,3,4,5-tetra-0-benzoyl-p-D-galactofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-p-D-

galactofuranosyl-(1—4)-2,3-isopropylidene-o-L-rhamnopyranosyl-(1— 3)-2-acetamido-4,6-

S45



O-benzylidene-2-deoxy-o.-D-glucopyranoside (64). Prepared from 58 (48.0 mg, 0.08 mmol),
donor 58 (139.5 mg, 0.12 mmol), activated, powdered 4 A molecular sieves (250.0 mg), NIS
(30.2 mg, 0.13 mmol), AgOTf (4.1 mg, 0.02 mmol) in CH,Cl, (5 mL) as described for the
synthesis of 30. The resulting residue was purified by column chromatography (2:1
hexanes—EtOAc) to give tetrasaccharide 64 (94.4 mg, 75%) as an oil. Ry 0.37 (1:1
hexanes-EtOAc); [a]p —20.6 (¢ 1.0, CHCl3); 'H NMR (500 MHz, CDCl;, dy): 8.03-7.92 (m, 12
H, Ar), 7.84-7.80 (m, 4 H, Ar), 7.57-7.10 (m, 24 H, Ar), 6.03 (app dt, 1 H, J = 7.5, 5.0 Hz,
H-5"), 5.82(dd, 1 H,J=5.5, 1.2 Hz, H-3""), 5.81 (s, 1 H, H-1"""), 5.75 (s, 1 H, H-1""), 5.72 (d,
1 H, J=10.0 Hz, NH), 5.65 (d, 1 H, /= 1.2 Hz, H-2""), 5.64 (dd, 1 H, J= 5.0, 1.3 Hz, H-3""),
556 (d, 1 H, J=1.3 Hz, H-2"""), 5.54 (s, | H, PhCH), 5.11 (s, 1 H, H-1"), 5.03 (app t, | H, J =
5.0 Hz, H-4>>"), 4.78-4.64 (m, 6 H, H-1, H-5"", H-6,”, H-6,”, H-6,""", H-6,"""), 4.45-4.40 (m, 2
H, H-4’’, H-2), 4.30-4.27 (m, 2 H, H-3’, H-6,), 4.10-4.06 (m, 1 H, H-2), 4.00 (app t, 1 H, J =
10.0 Hz, H-3), 3.96-3.92 (m, 1 H, H-5"), 3.86 (app dt, 1 H, /= 10.0, 4.7 Hz, H-5), 3.78-3.69 (m,
2 H, H-6p, octyl OCH,), 3.61 (app t, 1 H, J = 10.0 Hz, H-4), 3.57 (dd, 1 H, J = 10.0, 7.6 Hz,
H-47), 3.41 (app dt, 1 H, J=9.8, 6.7 Hz, octyl OCH>), 2.03 (s, 3 H, C(=0)CHj3), 1.65-1.58 (m, 2
H, octyl CH>), 1.53 (s, 3 H, isopropylidene CH3), 1.39-1.25 (m, 13 H, octyl CH>, isopropylidene
CH3), 0.90 (t, 3 H, J = 7.0 Hz, octyl CHs), 0.86 (d, 3 H, J = 6.0 Hz, H-6"); *C NMR (125 MHz,
CDCl3, 8¢): 169.8 (C=0), 166.1 (C=0), 165.9 (C=0), 165.7 (C=0), 165.6 (C=0), 165.5 (C=0),
165.3 (C=0), 165.2 (C=0), 133.4 (Ar), 133.3 (Ar), 133.2 (Ar), 133.1 (Ar), 133.0 (Ar), 1329

(Ar), 132.8 (Ar), 130.0 (Ar), 129.9 (Ar), 129.81 (Ar), 129.76 (Ar), 129.73 (Ar), 129.7 (Ar),

S46



129.63 (Ar), 129.6 (Ar), 129.0 (Ar), 128.97 (Ar), 128.9 (Ar), 128.8 (Ar), 128.7 (Ar), 128.5 (Ar),
128.4 (Ar), 1283 (Ar), 12828 (Ar), 1282 (Ar), 128.1 (Ar), 128.0 (Ar), 127.9 (Ar), 109.3
((CH;),(), 105.5 (C-1""), 104.0 (C-1""), 101.7 (PhCH), 98.2 (C-1), 98.1 (C-1°), 82.8 (C-4"),
82.2 (C-47""), 82.0 (C-2""), 81.9 (C-2""), 80.0 (C-4), 77.8 (C-3), 77.7 (C-3"""), 77.6 (C-3°), 76.4
(C-27),76.2 (C-4"), 74.8 (C-3"), 72.8 (C-5"7), 70.5 (C-57"7), 68.9 (C-6), 68.3 (octyl OCH>), 64.8
(C-6’""), 64.4 (C-5), 63.7 (C-6""), 63.1 (C-57), 53.6 (C-2), 31.8 (octyl CH>), 29.4 (octyl CH»),
29.3 (octyl CH>), 29.2 (octyl CH,), 27.9 (C(=0)CHs), 26.3 (isopropylidene C'Hjs), 26.2 (octyl
CHa), 23.4 (isopropylidene CHj3), 22.6 (octyl CH»), 17.2 (C-6), 14.1 (octyl CH3). ESI-MS m/z
caled. for [M + Na]" CosHo7NO7Na: 1682.6140. Found: 1682.6145.

Octyl 2,3,4,5-tetra-O-benzoyl-p-D-galactofuranosyl-(1— 6)-2,3,5-tri-O-benzoyl-p-D-
galactofuranosyl-(1—5)-2,3,6-tri-O-benzoyl-p-D-galactofuranosyl-(1—4)-2,3-isopropyl-
idene-a-L-rhamnopyranosyl-(1— 3)-2-acetamido-4,6-0-benzylidene-2-deoxy-a-D-gluco-
pyranoside (65). Prepared from 58 (12.3 mg, 0.02 mmol), donor 53 (50.1 mg, 0.03 mmol),
activated, powdered 4 A molecular sieves (150.0 mg), NIS (11.4 mg, 0.05 mmol) and AgOTf
(2.6 mg, 0.01 mmol) in CH,Cl, (5 mL) as described for the synthesis of 30. The residue was
purified by column chromatography (2:1 hexanes—EtOAc) to give pentasaccharide 65 (33.0 mg,
77%) as an oil. Ry 0.23 (1:1 hexanes—EtOAc); [a]p —7.8 (¢ 0.2, CHCly); 'H NMR (500 MHz,
CDCls, dy): 8.01-7.92 (m, 13 H, Ar), 7.80 (dd, 4 H, J = 10.0, 3.0 Hz, Ar), 7.74 (d, 2 H, J= 7.5
Hz, Ar), 7.50-7.06 (m, 36 H, Ar), 6.02 (app dt, | H, J= 8.0, 4.5 Hz, H-5">"), 5.91 (app dt, 1 H, J

= 8.0, 4.0 Hz, H-5"""), 581 (d, | H, J=5.5 Hz, H-3""), 5.77 (s, 1 H, H-1""""), 5.75 (s, 1 H,

S47



H-1°""), 5.64-5.63 (m, 2 H, H-3"""", H-2""""), 5.56-5.53 (m, 3 H, H-3"">, H-2"", H-1"’), 5.32 (s, 1
H, H-2°"), 5.23 (s, 1 H, PhCH), 5.10 (s, 1 H, H-1°), 4.85 (app t, 1 H, J = 4.0 Hz, H-4"""),
4.73-4.65 (m, 8 H, H-1, H-5”?, H-4"", H-6,”, H-6,”, H-6,""", H-6,"""), 4.42-4.38 (m, 2 H, H-2,
H-4""), 4.29-4.26 (m, 2 H, H-3’, H-6,), 4.12-4.08 (m, 2 H, H-2’, H-6,""""), 4.01-3.83 (m, 4 H,
H-3, H-5", H-6,"", H-5), 3.77-3.68 (m, 2 H, H-6, octyl OCH>), 3.61 (app t, 1 H, J = 9.0 Hz,
H-4), 3.54 (dd, 1 H, J=10.0, 7.5 Hz, H-4"), 3.39 (app dt, 1 H, J=9.5, 6.8 Hz, octyl OCH,), 2.02
(s, 3 H, C(=0)CHs), 1.63-1.56 (m, 2 H, octyl CH;), 1.43 (s, 3 H, isopropylidene CHj),
1.33-1.26 (m, 13 H, octyl CH, isopropylidene CH3), 0.92 (t, 3 H, /= 7.0 Hz, octyl CH3), 0.83 (d,
3 H,J= 6.0 Hz, C-6"); *C NMR (125 MHz, CDCls, d¢): 169.8 (C=0), 166.1 (C=0), 166.0
(C=0), 165.8 (C=0), 165.7 (C=0), 165.6 (C=0), 165.5 (C=0), 165.4 (C=0), 165.3 (C=0),
165.2 (C=0), 165.0 (C=0), 137.1 (Ar), 133.2 (Ar), 133.1 (Ar), 133.0 (Ar), 132.9 (Ar), 132.89
(Ar), 132.86 (Ar), 129.94 (Ar), 129.9 (Ar), 129.82 (Ar), 129.8 (Ar), 129.7 (Ar), 129.6 (Ar),
129.6 (Ar), 129.1 (Ar), 128.9 (Ar), 128.54 (Ar), 128.5 (Ar), 128.4 (Ar), 128.4 (Ar), 128.3 (Ar),
128.2 (Ar), 128.0 (Ar), 126.2 (Ar), 109.4 ((CH3),(), 106.7 (C-1""")

105.8 (C-1""), 104.0

? ?

(C-177), 101.7 (PhCH), 98.2 (C-1"), 98.1 (C-1), 82.6 (C-4""""), 82.0 (C-4’""), 81.9 (2 C, C-2"",
C-27%), 81.8 (C-2°"""), 80.1 (C-4), 77.8 (C-3"), 77.8 (C-3’), 77.6 (C-37""’), 77.4 (C-3"""), 76.4
(C-3),76.2 (C-4’), 74.9 (C-27), 73.1 (C-5""), 71.8 (C-5""), 70.5 (C-5""""), 68.9 (C-6), 68.3 (octyl
OCH,), 67.7 (C-6""""), 64.9 (C-6"""), 64.4 (C-5"), 63.7 (C-6""), 63.2 (C-5), 53.6 (C-2), 31.8 (octyl
CH), 29.7 (octyl CH;), 29.4 (octyl CHz), 29.3 (octyl CHy), 29.2 (octyl CH;), 27.9

(isopropylidene CHj3), 26.4 (isopropylidene CHjs), 26.2 (octyl CH;), 23.4 (C(=O)CHs), 22.6

S48



(OCtyl (Hg), 17.2 (C—ﬁ’), 14.1 (OCtyl CH;) ESI-MS m/z calcd. for [M + Na]+ Ci120H119NO3sNa:

2157.75. Found: 2157.80.

References for Supporting Information

1. (a) Patt, S. L.; Shoolery, J. N. J. Magn. Reson. 1982, 46, 535-539. (b) Torres, A. M.;
Nakashima, T. T.; McClung, R. E. D. J. Magn. Reson. Ser. A 1993, 101, 285-294.

2. Pathak, A. K.; Pathak, V.; Seitz, L.; Maddry, J. A.; Gurcha, S. S.; Besra, G. S.; Suling. W.
J.; Reynolds, R. C. Bioorg. Med. Chem. 2001, 9, 3129-3143.

3. Norris, P.; Horton, D. In Preparative Carbohydrate Chemistry; Hanessian, S., Ed.; Marcel
Dekker: New York, 1997; pp 35-52.

4. Pathak, A. K.; Besra, G. S.; Crick, D.; Maddry, J. A.; Morehouse, C. B.; Suling, W. I ;
Reynolds, R. C. Bioorg. Med. Chem. 1999, 7, 2407-2413.

5. Marino, C.; Varela, O.; de Lederkremer, R. M. Carbohydr. Res. 1989, 190, 65-76.
6. Bai, Y.; Lowary, T. L. J. Org. Chem. 2006, 71, 9658-9671.
7. Gallo-Rodriguez, C.; Gandolfi, L.; de Lederkremer, R. M. Org. Lett. 1999, 1, 245-247.

8. Gandolfi-Donadio, L.; Gallo-Rodriguez, C.; de Lederkremer, R. M. J. Org. Chem. 2003,
68, 6928—693.

9. de Lederkremer, R. M.; Marino, C.; Varela, O. Carbohydr. Res. 1990, 200, 227-235.

10. Aguilera, B.; Romero-Ramirez, L.; Abad-Rodriguez, J.; Corrales, G.; Nieto-Sampedro,
M.; Fernandez-Mayoralas, A. J. Med. Chem. 1998, 41, 4599—4606.

11. Kihlberg, J. O_; Leigh, D. A.; Bundle, D. R. J. Org. Chem. 1990, 55, 2860-2863.

S49



E0°E

LoTrrem/zy  3d/zH 170 :csex Byp

:ecuanbag asTnd

0¢S

Tz TE LT B0 TI6IGEET 0 0T
68701 DE'TOT " ET " ECE8T O zo°1T T8 o0
i i e i o
S°T (+ Bl 4 s'e 0'€E S'E o°v 'Y 0°S
\ y T T T | ™ !
| i -
{ 7
. |
* I’
|
- '
] 7 |
I
__
€
OH
HO
OH
0 OO_._
HO
H
_._O_._O ©
0]
o OH _
€ L(E 0 H
HOX%HO)O ©
|
PT7'UT-dnsSoZp-dop=-TI3-5T91-H28/UouUTs /w3wpIwy/Iwu 13 /0oy /009p/ Jun/ 81T 3| 109p: Taiswozioads

91 (FUBDE § HO°F FOWTIXW[6I BOf 0wy DOV ZHIONO09 YIPTAM deams gOOZ £ IdY eqwp

aqoxd pogms ‘D 0°LZ = dwel [Wn3ow <- D Z°LZ dwel ‘(wdd §ZZ°Z § SUOIIDW "IN & [°'0 O3 "JOI) 0TA UT AT ZTHW 005



ot

BOC°T

3de :aouanbeg asTngd

oz

st6°22

[SS

DE 0¥ 0s 09 oL 08 06 00T 0Tt

OH
OH

HO

OH

OH

_ L~

NN N N W L - R R A I I B o oo

W W W MW 0 OO R A N NN E NN W W = 9 ®

o N N VW OO VM N W ND WU ® Y RN ®D® @ 0 3

L I ] Mot e W W O NN AN e WY WY W@ o o -

@ 2w ow N L R - - I I ] ™
P13 €19-070-doPp-FI3-G19T-HIS/UORTE / WINPT/ IWUT [ / §OWOY/ 0OIP/ ITW/ 1 9TT 3 1099 a939woao0ds

temi/zy YA /=R G0 UELICBIP  PEIT ISUEDE § STC(Q fOWIIXUIOZ 80°7 :owj3a-bov zHLZeAHD L. IvARETgRhreddeagHleIup

8qoad M8 ‘D 0°LZ = GWA] TVNIDP <~ D 2°LZ dwol ‘(wdd ,0°TC @ SUOIVOW X[ 031 *JOx) OZQ UY IJIV THW SET
APTINYOORS TII=FTRD-TAI20=(S T)=(9°T)



¢SS

—_—

BE'E ve°2 BI'MEE'Z SE°E 00T
BE"Z1 SE'Z LV EYE 0Z°6 L1°T ET°1
= I = e o U B B | M A
wdd 0°T ST §'2 0 g S°¢€ 0y Sy 0°5 §°%§
PR S TR T PR R S ) T N T S N T S N T TR TR Y T WU PR DAY TR T | —— L
‘t !
I\ \\ s F

STl A
/
\

OH
OH

HO

o]
OOI

HO
OH
o]

eHOL(?HD)O OH




FEETVT

BTE 22—

LT 0T, o T

QE BTy

185" 62—
o0 ze—

956719
169789,
TER 69
100" 0L\
VA SE VAN
OB TL
927 9L

EBE" L4
POB" 2NN .
L R T —

TIE° T8

LO0B" L0T
LEBTEDT
29T ROT

OH

HO0 O(CH,);CH3

HO
o]
HO0
OH
OH
4

o
HOO
OH

H
HO
it

4

e e

a0

oy

A

a0

p—r

e

ppm

20

60

100

120

140

..rﬁ,
160

T

180

200

220

240

S53



92 (81
TLTR
iy - — — —_—y

12D

HO

HO
HO (o]

o
fHO4(*HO)O0  OH

OH
OH

HO

o OH




10000

5000

—-5000

8ze'r)
ve6ce
ri1og

Ige6a
1562
rlo0E
LB9'0E
le0'ce

6e619
0EO'2Y
F89E9
G569
L5204
elyol
BOF LL
6eLal
L289L
69E° LL
cBP LL
S89'LL
968 18
Loo'ze
Szl'es
v6Zce
chLch
L05e8
faEEd

c06°201
8467201

coleal

(@]
OH
OH

HO . O(CH,);CH;
HO
HO
OH
HO
HO . ©
O OH
HO
OH
HO

|
S0

I
100

ppm (11)

S55



9¢S

26" 2 £0°2 EOTHITZHME OLETD T 1O TEE°0
157071 Eg'E 0Z 'S19096 "D "WTTR T GE"0 oo
™ | ey -y (s e T o [t 1 e e iy v =
wdd S 0 0T S 1 0°2 §°2 0°E 5°¢ 0°w 5§t 0°§

A I S TR el | Al 1 et L =T -l L il i { L 1 I R T
R - m ) e
Y i
_\1

[ _\\ S i \\._\_.Q.;\\\: o, J
_,
|
J
OH
HO
o OH
o)
o OH
HO
_._oIo .
fo) OOI
O |
o OH
HO
Lo
o)
EHD4%HD)O0 OH




CEC"PT—,
1141% - B
teI 92—

ovE” sz—\\
995" 68—\‘

too*ZE
ET6™ T’—  ———
[ 14 004 ]

ray 'E’

'I'.(I'&’ -

SI'B'OI.

S0t LR
nEnceR—'
EZE'ER—
5T FR
sen e/
osa eg—'
505 LOT—
#La-sor—/
ezL'sor—/
ZsL 80F—

HO, O(CH,);CHs
OH

o
OH

HO
H o
OH
6

o]
HOO
HO
o OH
HOO
HO
OH
HO

W |

L

'|"[|']I'|}|I1|I1<FIFF'T’I|I1'Y|II'I

IRARARAARE RRRAE RAARE LR

100

TTTTT T

LASE RARRS

[I'FI||Y'
160 140

AAARLAALA RAAN

LA AR BLRLARE BAAE
220

240

60 40 20

120

180

200

S57



8SS

HO

o]

o
OH

paset 11 10°g 15 "aRePERe 10 85"
§5°ES9°P 09°2 ZZZW AT O g180
ety 1 ~ LN Y i
[ 1 Z £ v
| 1 o gy | T | i = i
VR 41:11] \
-__
/ __- I _-_.. ]
| 4 J
| )
f
L
EHOL(CHD)O
NHY
O

HO

OH

OH



BEE PT

b L1 .
She 2z,
ST ET A

1T T

PA L Bl Ty, S

18T,
Z1E" 28—

LTAS T oam

ZRE" T

i\

BHD TN

\

(T4} ¥4 '\\___

R T
sesze—

SLET0W

GLE" LB

E00° 201

SO5TRLT

m

OH

AcHN

o

HO

O(CH3)7CH4

HO

OH

HO

1T

ppm

S0 et LB Y T

L A i e B B e

R R

TT

AREARAREEE LS LL L L
120 100

T

L

L

180

T

240

20

40

60

140

160

200

zz0

S59



attoz L4 A 0z's Ll
kr's EZ°E {298 18 oe"e gf'e
iy i (o] ey Ay - +
wdd 0- T [4 £ b 5 9 L 9 ] 0T
Ve b A bbbt ol a ok L ¥ .0 .2 il el St i i y o o5 n L L h W

o OH
EHO4CHD)O ©
NHoY



— 15000

e

— 10000

— 5000

F—= 1000

2ZIEPI
B8LL) ——
608'22 —
8622 ——
56292 —
HE'6E ——
BEE'6E ——
15026 ——
921 P ——
LLE'NS —
1029 ——
82’80 —
69689 ——
£6}'69 —
PPYL ——
A8 1L ——
pOB' 1L ——
BI6EL ——
by Ll —
PEG'BL ——
96108 ——
61528
Ly9'Ed ——
98L L6
690204

682'601|

gaevLl

OH

0]

HO

HN
Ae O(CH5);CH3

0]

]

o)
HO  oH

HO
(0]

HO

OH

HO

|
100

I
150

ppm (F1)

Sé61



9S8

'y Bl 2 ET'w er’'e %0 b o
es o2 I0'E IL'91 e e Eg"o g0
oy e - ey —— Ll }; A
wdd T 2 £ 4 5 9 L
il PP Y e W 1 | W Y -~ 1 " 1 i " A i | 1 i i i I = Al

OH
OH

6 HO

o OH
*HO4*HO)O ©
NHOY




ETE"PT—,
TEE"PT
!CB'LI\
pzR'TT

Lad N
gL’
SLE"
154 0

gac”
LBE"
{44 0
Zvo”
T
26€°
T
g0L7
8PE”
866"

TET”
LE6S”
S09°
9g9"
ITH
L99°
769"
80L"
oEL”®
LEL"
LSL"
1s€°
s60"
{0
EE6"
L9G"
ssg”
DSE"
L9T"
nsruny

BET LR /
zey ze - /

Sps re— ’,-'f/ f;

syea—'/ /
it&'te—j/
T50°ZTOT

0ET 80T
657 60T~/
PESTPLT

OH

O,

HO

AcHN

[e]

O(CHy),CHs

o}

OH

HO
9

o]
HO,
Ho, @
o OH
HO OH
OH
HO

l|Fl|'irlII1IllIIIIIIIIIII|IIIIIIIIF|IIII|III||II

IRERRNERRE

140

'Ilillll[l

Tl "'I'_ITT. T

:I'IT‘I":"'

240

100 80 60 40 20

120

200 180 160

220

S63



79S8

(1)) wad
! [ 0% or 0's e
peg—pi g g pey | Y N P e, NP DA P iy | | G oy R P | |- T S N
o b P
g 2 2 5 g S % g B
W o ™ o ™ ™ v v
H — } e M oA M
OH
HO
L OH
_.O_
oL o OH
HO
HO JW.IOI
H
) OOOI
HO
O_._OOO_._
o]
EHO4(*HD)O

NHoY
o]
OH
(6]

HO




TIE T —
E58TLT—

S60°EE—

LIT T9-

1Z9° €9 —

052°99 \\,
9689 .\ \\ 'y
98T 69\ \ \ \

A
€LY SL~/ /7 ,f.-—-

9PETLL ;',‘,
Los* u.—f, / /f f
sesvze—///1/
L 'J."/';
LT’ GL—-; /
Tstos—// ‘J/f( ’(

sz te—'

0T M —'f. ";"{/ /{—

_f
4 7/

#0828~ —/ :/ ':’:_,/;r"

LR 4 If_;{.f
. i
overes '/ [///
SLLLe~ J///
yro-zOT /"
peo-ag1—'/ /
BPL BOT
setrs01—'

OH
o
HOZ
o ACHN 0 CH,),CHs

B9E"PLT

10

OH
OH

HO
HO

:T'|vr]r1'v]'*r'rr'|—'—:—7"7—r'—r'1'—rr*|'—l'rrr—r'l|'|'—'

l“'l‘t""l'll".'l'"i:" ""l*']'T'l "II'I"
140 120 100 B8O

160

s ABEAS |

'Il]'!

T

"TTT"]I’|"

"I[l T
220

T™T

ppm

20

40

60

180

200

240

S65



998

AL ) L 60 B8'C VvE'TEL'T L1 ]

e s8°1 S6°1 TR0 1600w 06"
- ————— Ly e -1 el oy ey el el iy =

wdd -1 51 0°2 2 0°e 5°€ o't 5'v s

N TN [ | T Y | Y L P )8 ] s, o as ) k., Lo NE g oy 1 1 i
O = S e - -

L
HO

HO OH
HO O

(0]

o
tHo4Ho)0 OH




DERP " PT—

§52° L2

124708

020" 88

8- ar
0297 8P,
R L

ul‘w—’ﬂ-’r’/f

181 6 —
256" 60—/,

Z'{:?E':j/;/

ppm

20

a0

ezrsr_{,:f

§12 29—/

gee co—/
26689
Tzl

(1758 oy

FSERL

bEb- 20 --/#/

599°E%
IH‘S!“/
w0 a0

TE0°BOT
8SETBOT

HO, O(CH,);CHs

OH
OH

o
HOO

HO

OH

1

G ELALEE B SN B R (e LU L BN BN L LR B A

I B e S o B S
120

T

140

L B e S O B B i e i e e

60

a0

100

160

180

200

220

S67



wdd

89S

L\\\\\\\\._\w

[4°

HO

J —OH
o)

O OH

HO
OH
o

fHOX*HO)O OH

X



L5e ¥l

L Ez—,

882 L2,

SENTOE—"
ESS 0E 5

SELT0R
!BO‘SE_‘I

S05° %
eLE B

('c‘"”_',

120 68—,
£81° n—j//
295" b
BES G¥

§R0°ED
826 89—,

855708

g2z0 1L
T T
EFlTRL LY
551768,

691" 68
”E'E‘j
r;rnj

TEE 80T~ B
av0-otT—"

OH

HOO O(CHz);CH;

HO

HO, o
OH
12

HO

TTT 7T T

L L B TTTT

S i B

L BLELELELE S
140

Ty

160

L I S A i e i B

ppm

20

40

a0

100

120

180

zoa

220

S69



0LS

14 I0°T 6670 9670071 0E" W i1
- 00T E6 8670 -z ST°E L
A ] e ] BILLL = [ ] e L
wdd 0°€ LS 0y s°r 0°s £§°8 09 $°9 £ S 4 (| I
| R T 1. | | | TR PR I R | I L1 L I s | I |
.\J._.....u - 4‘_

240

lols

Sl

0zg

oy

s

.\\,



pOR 02
0p1 Tz

IviTEST
Lhe R,

1L PR Thuu)
910" L
TET LLTAL
s0b 2L

000 Ta
66 TE

EPb TR et e m e

iSE"QZ‘I_-\
LEGRET )
§06" 221
286221
EIE 6217

\\t\“
tls’szt_v-;-";—“"m_-

. _—y sy
¥E9 821 l,:‘r.’l_l"l

—_——— e

T S
ETTIREC3 S
521 E8T—//
150 681/
zeetgsr

T98° 5017,

oTprgaT— o
600" 88T, -
£20°0L7

BzO STol
BzO OBz

AcO

T

LB B i e e i |
i

T

100

140

ppm

20

40

60

an

120

160

180

200

220

S71



CLS

EL°S (G

12 Ly

ey b ey

[4
!

B R .

01
v T 00°1
G
L : l
oy
9l
z90 (o=}
0zg
o

o1s 078

=

B



siateE—

T Tz

paL 2y

§92° 0L,
BSLTOL—,
pEB 2L

0L 2L
son- 20"
Wl
208" 29

RIS TH

Lipt ezt —\
0TSTBZT T\,

(74 3 11 S\t
N\

ZER"QET-

LRI\
SEh°RZT b
PR 83T —//,

995 §21—////
11

pED 0Ll —/
PIT"ERT
USI"EET —
T E81—/)
s1e gs1—//
E62 981~

EZE* 501,

9FTS8T—,
198°591
96k 0LT

STol

BzO

BzO

OBz

AcO

16

ppm

an 20

G

220 200 150 160 140 1z0 100

z40

S73



VLS

00°E ze°t TEE 011
G0 E0°T £0°¢
| 4 dhh [
- ) § 2 £ 14 S 9

Ll
790 0Zd

0zd

lols 0Ozd




oir:

11
Bpz-

(A 1S
wEn

£38° ¢
EIE"L

10

I0E°E

WAS"
£RD”
et*
GES*
DOE"
gag”
nip-
(11 M
208°
T
Epa”
nse
rag”
T”
gis’
B12°
ELL”
(11
EOR"
L%’
14 &
a9
(T
EHE®
ons"
ant”
951
gL’
a9s"
Zhp”
gia-
5pa°
WEE~
ngs-
228
s~
L

1
“SEC /A

1E

EY—////
£c1 —',i,f 4

eer—//
€& “’,‘//{?;.
U Sl 11114
RET S/
ot

1118

591

apt —

STol

BzO

BzO

OBz

BzO

17

YT T

a0

RN E P S s A L e LRSS SR e

T

ppm

220

240

60

&0

100

120

140

160

180

S75



wdd

Y )

'z

9LS

290

1o1S

8l

ozg

S

0zg

EE‘MIT'Z
E0°Z OT'S €279
e I e L
. e
=Y == i N
=
i r H
! __.k \\ .
A



SST 12—

(L R /0
e 1e—
018738 —

902° 8

T S
SESTRTT ),

SZLBET v

\
AN

v2etezt /M
s28 621 —///
e08 83T/

bR EEL ™
Be5 SET-
0P SET
9T pET—

GPE"S59T—,

EES 59T
08T 88T —

STol

BzO

BzO

OBz

18

ppm

U L e T
20

0 BB L S R R |

100

LA L B B

a0

60

8t

120

140

160

180

T Ty

T

200

220

S77



8LS

B3

1 3 4 8970 1y | 95’0
gsto g ZI'X
Ay bk gy, gy by
wdd tr g
. . 1 -t
<

sz
HO oL

oV
-

jols OH




ZET 12

1647 v0

126760
25879

ST L2t

_l

I

nb“: L

5997021 —
£8L 'SZ‘I%’

B2 62T

bes"2ET —/

159° LET - -

osersuT—'

STol

HO

HO

OH

TrO

T T

r

S0 LR R R Rl
an 20

rTTTTTY

T

LB LI I g S B i i

140

180

ppm

80

100

120

160

200

220

S79



08S

00" 15t 1Mz 601 £2°21 vo-z
TR a1 £0°1 02"z 2651 A s
] = iy ™ Fars. r=—— e e e e T
wdd 5 9 L f
— s | T I | PN T I L | e
g S T

B

9z
o Ol

24
NI?WIONm
o

lo1s 0Ozd

hpiee o




oLy

6"

S0’
ST

wED®

ESE"
¥y
26’

s2v”

08"
TEE”

610’
fog*
ESE’
BLE"
3
nés*

IES”

00

sen”

5§€’
ewe’
89l
oge’
(1
Ler”
LT
AIE"
ESb"
r2o*
(11
FIE"
GECT
pegt

iz -

29

Lt

L L - A

e

20—r —

L —— -
/.

11 ]
gE—/
R
16

'

v/,
v // /-
8IY—"1 111
s21—'/7 / /
E21— !
62T ‘aif/ f
62T~
a1
eer—////
ee1—////

se1—/7/
cn—’ry:.
lzt"j 41.-’
ar—/
501 /4
501

STol
BzQ 0

BzO

OBz

TrO

26

TET T ™

T

T 7

TTT

100

R R Rt

2ne

A - )

120

ppm

2n

a0

1

gl

140

160

180

220

240

S81



uu g

5000

4000

3000
2000
1000

628¢C

BP0y ——
BSQP ——
206y ——
916 ——
5267 ——
99§ —
9595 ——
0995 ——
PSLS —
Loy —
T A
862 L ——
PIEL —
62E'L —
IPEL—
58—
2LEL —
ISYL—
BL¥L —
PISL —
625 L ——
WS L —
s L ——
9552 ——
065'L —
Q08 L ——
Yo L ——
ov6'L —
196'L —
296 L ——
0508 ——
£508 —
1908 —
8908 ——
608 ——
2808 —
9608 ——

BzO STol
BzO
HO OBz

27

= 3.00

T 216

+ 1.39

v
S anse
o
o

1} z5a

i
3

20
(4,1
am

2.0

I
3.0

4.0

-
¢

ppm (1)

S82



— 5000

935'¢9

6FE'eL —
90'8L —

68123
Esg 28
S9E 16

riEgel
8ok 82l
s ecl
L1882}
peR 621
96 621
cv0'0El
LGZ'EE)
LIZEEL
EIS'EEL
Sa'eel
S8EBEL
cES9l
6947591
082991

STol

BzO

BzO

OBz

HO

27

|
50

1no

150

ppm (1)

hYo]



wdd

P8S

90° 1
¥y g8°0 Th: 18
- " . ]

2 £ v P
b b= ] 1 L L |
v —

gt

74
290 0ozg

OH

ors 0z




B e e—

£90'99 —

808" 89~
58292
0207 2L

TN

e —————
808 T6—

SETER—

LSETTE

SLETHAT
PSS RET Y,
4286721\
RORTRIT )
g58° 621

987 B2T
g2 621
988" 62T
250" 061 ~////;
ERO EBY—//
129" s61—//
269 EET—/

562 RET—

LIT7 59T
586 B4
LekoaT—

BzO STol
OBz

HO
BzO

40

T T T

TT

T T T T

100

rvr.ﬁv
120

‘-l‘r"‘Tl'Tﬁ'T"rTr

160

.

T

T T T DTS T T T T

TR T

ppm

20

60

a0

140

180

200

220

S85



O(CHz);CH3

BzO

0

BzO

OBz
OBz

BzO

OBz

BzO

30

T} 1478

T 3.00

s 5 on

3 1.08

2~ |07

——g T 5.33
——— 2= | 0f

= 1.04

—_— = '.04
- 3 = |88
== |08

3 1.05

n.o

=+ MY

ppm (f1)

S86



VEY

ocu'ee
(WA
89c’6e
levee
9E5'62
8c8'1E
9ES'ES
9e5'va
26529
42504
es6'cL
LLol
oe0'Ls
601 LL
0BT LL
LI6 1L
5418
866718
891'cs
oevce
lEES0|
S8P'S01
cal'azgi
9zzeecl
tee'ecl
98EBE|
vessel
algsel
66882l
gloael
L9062
8.56¢l
a6zl
06962}
galecl
rESBEl
ole'ect
156621

£06'2E}
186°2El
080°EE}
BOZEE)
952 el
rLEEEI
Z6EEEN
102891
' Gol
£65601
899601
289501
18659}

ollnng

LLEDEETEERELE T PR e T TP er] 1

O(CH,),CHy

BzO
Z.O

BzO

OBz
OBz

BzO

OBz

BzO

30

b}

1
100

[
=

ppm (f1)

S87



O(CH,)7CHs

BzQ o

BzO

OBz

BzO

BzO

0Bz

BzO

31

J

Wl

= 3.01

F 1257

3 228

I 088
I+ 094

- 090
082

FW
P S
&3

om

=S
s 3

Py

o~

WY
oorn ~ =
58

oo o

S|

0.4

5.0

ppm (1)

S88



[=5]

o

w

I~

~
O(CH,);CH3

o o
—
N -
o @O
BzO
(o]
OBz

85.°501 —
YEL'90L —
Bec'8c L —
gog'egl —
LVE'BEL —
SBE'BEL —
0BL'6ch —
g6L'6cl

BzO

Bzo _ ©
OBz
31

BzO

BzO

608'621

B¥e'6Cl ——
996'2EL ——
G6EC'EEL —
9LEEEL —
BIE'EEl —
EEE'EEL —
591°591 —
sl ——
9L9'sgl —
459991 —
L6959 —
voB'S9lL —
650991 —

I
50

I
100

|
150

npm (11

S89



06S

SE°P ne 8071 50°p G6°0 EETDE 96T
el L] A ¢ ti'zeso W BOLE e e 2l
- —— o — o e ge < AR MA ——— ek
wdd | £ t s b4 6
| PR et TEna T | 1 i 1 1 i TP Y

AR j;_m

ze
280
ozg
2250
o
fo) 0Zg
o
tHoUHo)o  O%8




SLATPT

0we'zr—,
apraT

LLL3g 1 S
S0b°GE

NS B2
g20° 18

BHET R,
£80° b8 )

SAE L)

y—-

R

ppm

Zn

an

Wi

W3 T — 777
BOE te—/
s Te—/
ROE" 20
LEERET] S
BEs 01

gLz et

BET BAT ™
vag Bil—,
oy R2Y

bbb ' BE1T
005 RIT
GES"BTT
SI0 82T

22T 82Ty
T ezt

WY
AN
590621 — \.\x\\}}-‘;\-\‘-_

pES 2L

LTEEET

SLL B2
REREZT

§92° 621
vk 28T
055 °TET
et eEr
RIE €L
Tee 681 —
LTV EST

byt EEL-
181" 91
257" 531
206" ST —
EbS° 59T =
208 ot —/
S9rTgst-

L]
I
[&]
iy
o
I
o
] a
oy
oQ O
a
@]
o
2
m

BzO

OBz

32

T

R |

150

e I e e et

100

120

140

160

2on

S91



C6S

12° € e L1 | 14 B | 879 €°10°1T 8670 LE'R el

e er LA ST e 1088 “E0°§ E0LBETY sz'0
a] —_— Ay oM oy ~r A A AR o] sl piey e Y
wdd T (4 £ 14 § 3 L g 6
1 4 | | | S — T [T SN R T P S ) [T A | MY T T "

— V _ %.___.:j i s i':] =

€e
zd0

j _|ONm
o

280 o 04

ozg
o
®HO{®HD)0  ©O%8



LI

[T RES
£21-02
EE2° 82

BEETET
(11 T4
(47 g

011 S

BEE 821
Zretell
ESE"RZIT T
RLETRZT
0T RZT
LT eZT
tag g2l
OF0 G621
EST BZT
T69°R2T
eZTLRET
ERLRTT
oee'h2l
SEE'GETT
PIE BLTT
596°6Z1
T56° 2T
LT §
S0 EET
2EZEET

0 1 St d

el o

LLEEET—
AT RaT
Bbb 50T
BLGTGAT

LEL750T
96L° 591
pr1- 901

O(CH3)7CH3

0

BzO

BzO

OBz

BzO

BzO

OBz

33

S

L B e i e

T

L

A i e e e

._III‘I'
180

TT

T

e ]

ppm

140 120 100 &0 60 a0 20

160

220 200

zan

S93



P6S

LE21 [ | §2°0 PZ'ET’T TOCTROTGOUT Y 5
6 Ve"EVE'2Z o'l sT'BO'TO'Y pOZESD'T L1 a1 00°%
- e — - ey ey ] vy wbyby & 4 nh s [y o
wdd 0- T 4 £ v 5 9 L e b ot
1= a P e =p == Lol b . P | [N PO (T O 1 M . = | |
™ jﬁjﬁz
Y - - -« anie p— x f
| _\\ _-_‘
/
147
o)
280 03
290 0zg
o 0zg
o}

tHo{fHO)o  O78



O(CH);CH3

0

BzO

BzO

OBz
OBz

BzO

OBz

AcO

34

T T

T T T T

T

220

240

T

ppm

180 160 140 120 100 an 60 an 20

200

S95



96S

wdd L [4 € 14 5 9 L e
L Ll 1 - | - A S LRSI S N [ S —"— : Lt ) PR S T |
T S 1N [y -
| \ JOE B T S lﬁ;jy;_ { éﬁl_
s ;...\1! - — it S P . . k\\\\.l l.lt\l
s¢
280 OH
Nm%mo 0ozd
u 5
o 0z
O

®HO!fHO)Oo  O78



Y
TR
821 a2\
- :i:\\\
9ES B2 \\\“
29 18—,
:‘:-::_\ﬁ\\\b\,\&\

S68 LR\ \\\

LT ) AR

8T L9 —\\Q N \

gM 2L\ A
ur'sg--\‘\\\\x\\
BB 82\
£vs° 92 :}N\\\Y\L

oL 9d _‘\'\,\\-L\\

s:::::q\.‘:\'\
\

0T L2\
LT 26—\
Wiz
WEE' L
LLE Lt
10b° 22\

AN TN
N

589" 22\
mrn—\\
256 18—
uu‘u—\% \
L9 2R\
TOE S0T—\\ AL
208° 501,

Ze0 " B2L )
ETT E3T N
AR T A
E81 021
112 82T
REE 02T\
SSE' 831\

\

TRE"W2T L

1 Trrr

fed 1}

pom

an

eT8’ 621 ,//J/
BRA§21 y‘j,{/

W)
s/
186" 82V —////
sw0 o51—/////)
ok esY— 101
vILes1—"////,
L2 gt —/// /
4

sez sev /1 /1]
§Tb 58T /’j’%
sepssx—//// 1/
sez son—/////
208" sox—////
nrssi:jf /
eve-ast—//
L2198t —

zEp 991

W
185671 / -
nem ,4’/7—// 7
:zf.:::{;:f‘ff/,y /

!,

L]
I
3]
X
o
I
= N
o o
s J°8
: o]
Q
om
o a
o)
(o)

BzO
HO

BzO

35

-
1nn

™1

TTeTTTT

Lzo

T T T

140

-

221

an

160

180

zon

24l

S97



865

2670 50°§ 66'0  OT01
E6°0 60 66°050°p 86" (BEOOT
& horh thrh ] A AdA

£ 14 S

LA I (Y T |

; W T

9¢
z
z90 o8
OH

zdo
zg0 o

o_
®HOX*HO)O 0%




E@0"

ES9”
oat-
29z"
BTIF”
BIS"
20"

RO9°
e
AL N
(71
41
e
L0
(4 [
0oE"
420
z89°
rig”
mre
02s°
LI
grs”
spr”
(£ %
DET"
E22°
b92"
L9e"
Lep”
ESS”
L29°
ESE”
010"
BED”
[ T3
£59°
682"
005"
TE6"
Tin”
rZo*
LS6°
2s0°
BOE"
(31
sep”
(14
aLp-
[0
44 N
gIT”
BEE”

O(CH,);CH,

0

BzO

BzO

OBz
OBz

HO

0Bz

BzO

36

RARARRRRRR
140

160

T

TTT

200

T

Dom

100 80

120

180

220

240

S99



001S

beST it w2 19°00° 210" INEEEITED " 1

11 19°¢2 Se°L 1Z2°0 00T Ire Tl oA AYEETIVE D L1 14
y e s | [ ] ey d = h b IR T . iy p—ihe—
wdd - T Zz £ t 5 g i ) 0t
PP L P | PR L W Y | P 1 M- | o | TS T VY T T Y | v e | | L
4 #\<1|j|3|4 _E_ _ iy N
.\5 \\\N L\.\

A ozd

Z40

Z90
290 o

tHOH%Ho)O0  OZ8



T80 ¥T—
TR e
Bse 22—
oL 8z \)

2SN

AR

e\ \
\S

SEE BL N\

19092\ ":\
R \\\\\

22—\

LT \ K\\ —_
2\
AN
3§\\\‘§\\\
IR

tll'lt3‘§\ \:i\\\:\\\-—

opm

L et e i e e e
20

a0

\

W\
s \i& \
uz':o:—n DN
::::::Q\f-“

25T 9T
952" 821\ N
o1 %21 N
F2E-821 N,
095 92T
l“'IZlq- 3
TR N\
¥28" 021

T pat
68 IGT_'\
se§ ezt —

7
-

020" 0€T ’;’%
His ) /
a 7
A A,/ A
&&=
s =
:::-::,-,:&M/
HJ'ESI_,/f% /
L0 9T /) /
:::.::::ff//f
125" 581 ,/ //
oE% 09T —/, “?
sos- s )
::u:znz_‘{é/
B

£8s 58y —/
TRTI

an

100

T T YT T T YT

120
S101

140

O(CH,)7CH3
STIT &Y
15810 160

BzO
o
(0]
BzO
0 OBz
OBz

OBz
37
Z0n

BzO
z0
|.O:i |
.220

BzO

zZan

BzO




OIS

LE 90°E 86" 2 96°0 670 00" 1 00o@@ TITZ' T LLTER
EF° 61 96°0 960 02T°F OASTR"06E"D 6S°ET
- ——— L] n A A A el IR, ——t—— p—
wdd 0- 1 2 v S 9 g 6 0T
[ ] | Lt 1 3 Le go ] 3. g T .9 Jegoy. o i 5k sralof A b g ot s oo i)
\ i i e
_4
1_._.\ ’> | 7~ \\__\
¥
8¢
280 0zg
ooy
o
o oz
zg0
0zg
o

*HOUHo)0 O



$L0° 0T
BLLT03 Y\ -

25822

I

o2 62

S0P 82 -

388"z

eI e
559" TF

BSETE8

SPE* 89

#ze" :sﬂ‘ \

lsﬂ"!" LA\

56792
1807 Ll \~ -
' 2\

BT L e —— o
anc'u—.'\\\‘ o

F{1 88 | fand
g2¢7 501
841001

&b 0OZT \
P55 721 -\t\\\\
260 02T\ n
50" IZI-“'\ \
Lsn’ GZI‘—‘\

$81 63T =

ru au—~
282' 621
1eg’ sn-‘
0587621 )
PESTE2T
T80 OET—
¥o0 08T
BET 0T —/
§80' EE1—/
a90 g6t~/
162 EF1
W58 GRT
¥09' EFT- /4
VIS BET —
Skr’ xel—f
556°551 — f»
Vir* sst—-

{p5 851~ ‘}’ "
L5 hi4-11 //"
0187591}

T T
0567041 —

O(CH,)7CH3

0

BzO

BzO

OBz

BzO

AcO

OBz

BzO

38

| Ed e B

o & BN I

GBI B 8 i e i e e

YT

ppm

20

40

i00

120

140

160

180

200

220

S103



e

6€
OH
0zg

240
0zg

o

tHoZHo)o  ©O%8

6672 02" e E&’ QE°0 0zZ°1 Za08°1 TO"HE"T T6'0 8E" ¢
»s' 8l ne-t PO 1 IVaE'a8" 0 2071 L6°T 2112 oi'e
wky by ey p | ™ = fnrr phey ety oy e ] reiti—— | |
wdd £ ) S 9 g
il i i " | L ) 1 ) L " i | " = | S i




£ LU )

vES BT,
L2z,
e2pg—'—
SR BT,

alv' RE—,
STe 15—

06108,
orb 08—
108° L9

LU T
uEL" (TY
L1400 14 e
9sE" 0l

ppm

20

A0

60

E®E"BI1

E64TETT

ST 0T —

SEEEZT
0EE* 621/
866 2EL—//f
YEQ BST—/ /)1
bz Est—//,
1ee st —'//
LZr EET ')
Tep seT—

tLntse1—
02k 591

059 s40-
beLsut—
950 gt —

OBz

B20  O(CH2),CHs
0
BzO
BzO
0Bz
39

BzO

HO

T Ty

140

T

200

80

Lzn

140

160

150

220

S105



8'e Té°p 960 670 £6°D 4670 ZEWIO GETO fe°z ss'21 BEX 2
N0 E go"z WE°0 9670 1L LEOEG IRG ORE" 1 00T 65 L1 GRZEH "W
[l e iy ] rh s — -~ At A dh A rArtr—_i— Pty
udd T 2 £ v S 9 £ e
" i L L ke b 1 i 1 i A sl L i e i b b 1 ] L I ST e e L) 1

» \‘l - - - |~ - sid or_- e
/1 ' i
0ozg

R 240
z90 ozg
Z!
a0 o g
o oz
o
0 ozg
290
Ozg
o

tyoltHo)o  ©O%8



3000
2000

4
ek =|

96628 ——

rLi'Es
LIE50)
0£9'501
#0130}
liglee!
gel'ecl
clcecl
cBZ'8E L
geescl
L5€8821
pge'sal
6EF'BEI
rP88e|
g06'ecl
Se06e!
IBO'BE1
pECBE )
g99'621
AT
rog6el
BIE'BEI
6ece'ach
LvG6el
BracEl
E06°2E |
FAL YA
Si672El
0Z0EEL
LLOEEL
raleel
roc'eel
BYZEEL
992°EEl
L0E'EE}
625 EEI
grlsal
£91'591
vor'sgl —
S6t'G9 L ——

RIRRRRAARRRR AR RRARRRARRRAARRR AR ARR

O(CH;);CH3

BzO
z o
BzO
5 OBz
BzO
o
0]
OBz
OBz
OBz 41

BzO

BzO
BzO

T

T

50

100

150

ppm (f1)

S107



801S

1 S6'0 L0°EOCT 680 TETOSAOGRID'MED TO"EE 50k
BI'E LED B0 W Ie’n Z0'BETOE @600 IEI D 1€ ¥l
el (o | = ™™ —~vrim M OAAMA MRAK Y i R ———

e € v S 9 i 8
1 1 1 i ]

R

o - - —_ = ——— - - - —— - —— g

144 ooV
ozg
280
ozg
o oz

o.
tHOXHo)o 078



81928 —— | l\ = I
9948 ——|| \ = I
06669 — || (|
TINY]

ZLVEL
€6L9L —
800°LL
ZLVLL —
€92 LL
0S8'LL
Z6v'L8 -
0£9'L8
98.'18
¥S6'L8
12828
oeEz8 —

62rSOL ——

L0§'50L ——

SP990L —— N

2sh ezl — N\
wzezL — | O

LT8ZL ——)

B6Z8ZL -\

pLEBZL —\|

gee8zL — —\U
0LE8ZL —— .\
vor ez —— )

20582 —

ZL962) :

99,624

1BL6ZL

928624

BLB'6ZL —

¥68'6Z1

8Y6 624

SSBZEL -

826 vOL

081594
LZ¥'S9) -

58F SOl

L15'goL

9va's9L

£28's91

Sv6 S9L ,

501’994 — /]

Y=Y O 7 S - e

100

OBz

BzO O(CH;);CH3
0
OBz

ppm (1)




on

OIS

a's

(1)) widd

3 343

& & mﬂ. HEHE BIRHRT
- o D o OSE E
([ i W B O

98¢

23,02
83
13

jl.;‘léji ﬁ:_j.(

280 o0zg
£y QYOI
o
0 0zg
Z80
s ONm o 0zd
o
-
(o]

tHo4HO)0  O%8




5000

LEVIL —
0S¢ LL——
SigLL ——
0BE' IR —
Ll —
056 18 —
Elecs —
LBE2Y —
g55c8 —
BOPS0I —
IBYsol —
25.901
awiLegt —
loggel —
9BeBEE —
QLwct —

LE¥REI
S0S8ee !l

S59621
96962 ——
99681 —
18L6ch —
POSEEl ——
658621 —
IG6EL
FxE6Z) —
89CEl —
906CEL —
SS6CEL —
IEVEEL —
ESLEE) —
HEEE) —
WEEE) —
c8EEEl
ETVYEE]
cb6Pal
81591
9rye9l
HESE91
199591
528591
610991

O(CH3);CH;

0

BzO

OBz
OBz

BzO

BzO

43

HO

OBz

BzO

50

100

I
150

|
200

ppm (1)

hIDN



wdd

1 Sy

Jljﬂj_ . :-J iy

290 0ozg

780 ozd

St 280 o

ozd
Z90

Z
280 0Ozd

zg0 o

OONm

I T T




kea~

1
ird

110
85

Lot
rES

(S
“q\.\\
EE 0\ \
i ‘\ N
e\
VLR e
ARR
I\\ ."-\\
iz L
WA
W\
(3]

ER°
S8
131

Epd NI

5T’
s’

T9s

0Es E21

a5e”
e&Lt
ihe
Pse”
S26°
Bre’
(73
LER"
(118
e
Evl-
§41°
asz-
S0E°
BLET
Tio”
BIT”
ISt
SER”
71
8ss°
fea"
win”
08"
L16°
zot”

|

|

O(CH,);CH3

BzO
0
0
BzO
0 OBz
OBz

a
2 Q
(@] ™
N o o
o - o]
2
m
e} a
(@]
o
]
[a8]

BzO
BzO

PpR

20

=TTtT

p=t= g —

=TT

—

200

——ry

160

180

120 100 a0 60 a0

140

zeon

240

—rr

S113



PIIS

6P 15461 He 0 EE bEZ O W'l UL (- - F ]
{9 RLTNES Zr'o g0 1 BE“E BR0 [GARIETDCI
o by 4 b ey el oy e =] het &k h Ak Ay
widd T 9
| R S W —p— L 1

VA4 280 OH

290

o o8

0zg
Zg0
ozg
o

tqotHo)o  ©O%8




SILIS

0T

280

EHOUEHD)O

NmONmO

ozg

ozg

o

0zg

240

Z80

0zg

ozg

0zg
ozg




R0 PT—
YISLE )\

PTTe9E— )
pez 6z —
86E" 6T -¢< _
sas-sz-—\\y;v\a
S0 3E— "\ \ \\\ )
YL &9
LhT Se
ZET 99 N\

ERL- LY \'\,\\.'\ \
£ 0L—
62 TL— "\

Y

W\
\ \ \‘\ \
\ \

L1

LY

Y

898 Ta— .\ '\ \ )

\

Il LELE S L

20

TTRr 1

LBLE 1

60

M TYTT IS AT

40

et n— )/
srves~ /)
ver-mi—/
g0 TH—'
TE9“ SO .
goLsor— '/
Lrregor— /
gtLt a0t —/
0ZT BT

ss ezt

BreteeT

TLE"BET—
sev-ozrd////

¥y /
eoseer—//////
) f ."a”. / ¥

cos ey~ ////
i
L Lo F 4

O(CHz);CH3

ore sLT—
6Lsr6zyT—

BEo

cta's:t—-;
apR iy
LOO*EEL
ZOT RET
pat ey
BEZ'EET
POEERT

0Ly TRRT—
YIS S
psE°591 1/
FE0T9IT —

BzO

OBz

BzO

BzO

OBZOBz

BzO

OBz

BzO

BzO

OBz

BzO

Freor

| )

L

T

220 200 1B0 160 140 120 100 BOH

240

S116



LTIS

po-s E0” £z E0"IEOEDL 1IT'1 0Tz SE°ET  EI'282°WE'0
0’ 70E m'E TOT WTENT BT IE"s1 Lignd I | )
h oy - oy * M A A Ao by pleyly —
wdd £ v S 9 L B
. 1 | A A i - S S T S T S R—— }
| VY

T

0zd

290
-
0zg

ozg

Zd0

ozg

Ve

— e —



'ial—'\\\,\
"SI
i 22 B
‘82T

gy —//
skt —/7

s
~sa1—////
-so1—///
59—/
501/

“ae —

Bzo_o STol
BzO
o OBz
BZO_ o
BzO
BzO OBz

T

20

R AN nas

T T TTrTTrY

TTTrreTerretres)

Loo

2410

ppm

6D a0

200 180 160 14l

z20

S118



lo1s 078

3.00

-]11-1.4_$.J .1,..,

611S

B 6D B

= 088

280
. nwm o 0zg
o
o oz
o




£80°TE
6547 E9—
995 98 \'\
057 L9
E9P 0L

ELL TL—,
TLe'EL :\\\
L9094

220° L \ \
BLT LL— \x
€68 4L 1\
EPL” u.—\- WL
L¥s T8 \\\ "-\ \ \f'
ose Te— .\ \ Y
ves® u-—\
zrotee—"
¥z e,
169 ze—\\ \x\\“
150" rs—\\ \ \\
809° 50T
£2L790T—,

'I_I'I_]
ppm

Illl'."

TTYTTT T Ty

!||‘III|

20

40

60

L6z sTT—\
tt:'ut—.‘\"
PIT-BLIT \
oTereeT— |
tzy-8TT-
ut'tt‘l:---\

\ b1
sre” lt!-"\\\- )
ﬂl.ﬂ—\\\\\\
9E€-8rT
SE0°6ET
e8¥- 62T
L85 6ET

STol

PET EET - ",
SEE EET—
Leye :st—e;
BIS EET -
#E0°BET --fe, /, # ’,
£90° 58T /f 7
EBT 69T ;

BzO

989 591/ / /
vee-ss1—///
£86°59T— /
860° 81—

OBz
OBz

BzO
OBz
53

BzO

BzO
BzO

-.-r._,.[,ll

l]lT:’ -Ili rTT'TITT"T'T"
180

200

TTTT

TrrT }"_'"f"ITT‘_T |

140 120 100 80

160

220

240

S120



[CTIS

5178560

TRI0PE0 8" ZE

on-g AIST HI 0 (211 ke {1'e 10" LT
" A A M AA riy—ie—— pe—he—
wdd n- T £ ] 5 9 L 2 & (R
Tl | el 1 i | I 1 , . i i L3 P ) T LS
i ] —
= - \\.\ll .l-\k-l
-
vs
0Zzg
Zd40
Nm_m...mo ozg
o
o oz8
ols 0?8




AEAREBEREEE]

ppm

a0 20

B0

Z6¢ RS T,
BVE ET T
220" 621
PESTEZT
LA5 EEL—
4T 1%

312 BEE—
*aL7GTL

ERL BT —
A9 RZT—
LN

16 5EE—
Lon 0gs—,
00" 26T
SeE 2R

088 e —
EL0"EET
§L2 EFT
WU PRI —
G EET
(340141
ST ER1—
EE27501

PE5 591
e Gat—/
LEETS9T

L0 91—

STol

BzO

OBz
OBz

o]
B
zOO

BzO

OBz

BzO

A B LB

100

160

Crey e

200

—r YTV T T T YT

al

Lz2n

140

180

220

zao

S122



BzO o

O_ _NH
Y
CCly

BzO

OBz
OBz

BzO

OBz

BzO

56

MU Uk

+ 378

= 1,02

= (.89
= 088

— 0.86
= 110

= 1.09

T 26.02

:]— 1273

LY
a6
o
aan—=

= | .00

ppm (1)

S123



vTIS

TT'T EWWEOCT 25°02ETHATZZCN PISEET FEEINOT
ZE°1 EWE WI'T TOWO0ED T 92 °TLES" LT THTLER" 0
s R A A A A MAAR A i Ayt AP g
v S L} L 2 G
i i | R [ - s —— | S S | ie =

PV VSRS I TR P,

jﬁ\j: ._._i Q 3

S - n o, 'y £ npt
1/
/
/
f
1S 280 0z8
o250 ozg
5
o) 0zg
5 O0zg
780
ozg
-
los 078




LI TE —

LES" LL"* \ \ W\
syeree—\\\| \\
seLTee— 0\
sLeriL—,
IR TN

strea—’//
vev-ee /)
0
seT 15—

BLT S0 ——0— —/——
LO6"S0T—
$OT BT
861921
L L
LIP BETL-

PLy RET-
AR 1 S
Len-aet—/

800 62T
ere szt
::a's:t—J;
I
£6L°62T—
6T6* s:t——*f [/
EITH ntt—ff ffx }Hffzfr.:
338 ntt——{g” ;k?,”ffﬂ'{’f
aLE EET- /
€997 ZET-
LEOTEET
EPTTEET
BT EETL
gserrer— /)
SEP EET
B LET

/

108 59— //
$63°59T ?f
6667591

STol

BzO

BzO

OBz

BzO

BzO

OBz
OBz

BzO

OBz 57

BzO

TTT]

T | LR
40 20

T

™1 TT

TFT T TTT VI T VI T T Y

= — gt

T O LR R L
180

200

YT Y

T

140 120 100 80 60

160

220

240

S125



9CIS

92'e L1°€ 00'E 8570 GT°BZ°DO°T LE7D L] EO°E
S84 ZE'eBE'Z SE°0 6D SHAW 086D i6°0 960 212
s e Ll L] Pugh . A A & L - o M=
wdd = T 4 £ v 5 9 Fd o B T
4 bl L FT) [P NN i A¥laxs 1 la siee i 8 LM, i | P S L ) L il St el " |

ﬂ Lk, A i I

OH

EHOHEHD)O
NHoY

(0]
o OV\_._n_



LT RS St

PO BT
PEDZT T\ -
SEE'S2\\—
ZET I T\

SE T\
16 L2
AN T
AL/
§6e 52—/
oLt

WS TS,

Vel E9

940" 99 7 .
B527B8 \\)

BIE B\

(11 20 7 Smy

ST 7B ™

gLz es—

beE TOT—"

Spz a0T

ZIE" 92T —

LA S

Se0°RIT—

EDT L2 T —"

Big o1

O(CH3)7CH3

ppm

T

20

TTTTT o]

40

BEEEREEE S R

80

100

B S e e

T
120

140

,
160

T

220 200 180

240

S127



8CIS

05" ¢ SE£°Z oMeze STR°T (6°0 SE'IKE°0 T 0Z2°E
e £S5 ET DASETE 9670 TO'TER'TTI& M 2072 RE"0PE°0 L i
A n — th ' L S BT s I O I sl
wdd u- | 2 £ 4 5 ] £ 2 6 ot
1 P | Ny | 1 | i p==ls =) | [T O T [y oy T | VI T Y M| | e ] P iy S PO Wl ot | 1

A

T 20 'L [

€HO4(CHD)O
NHoY o

(o]
0 0\ _-ud



41 1) S

LU0 L e—

seL 0T
bigToz

bSE'ER
2238 1 s

b2E 52—
18etgz—

vod ES—,
160 E8 )

TeE 88—
SL2T e,

el —

L L A [ g V—
188°Si—,

SELTOLr

P10 28—/

882 tL—'/
152 08—

BSL° L6

eres—

gL TN —

PEEDEY

tal 821

WROC Lz —

eV Ll

T4 691
B¥E°EIT

&0 0LT
ERZTALIT™

O(CHz)7CH3

T T T YT Y T T T Y T

.—nlrv
a0

T

T

.IrT
120

,,,,
140

SEzman

B RE L e ER LR A CUEODEEEaNETEADES

ppm

20

ez2n 200 180 1680

z4p

S129



0€IS

862 Er"ZI e BZVDIZ'P (T1'2 I1°p [ 4 & 4
0T ] S GO°T LETTNO°T [ 1A 90°1 Iz
o A P ARl el - S,
wdd T 4 £ v 5 9 0T
- PR S S T T | P S T L P T, Y T R T B I i |
T i
m
. \\ - | e - - m —_ o
[A:]
HO  ho
OH
(T o
HO4*HD)O
NHY

(o]

(0]
o o\ _-ud



azr”
65"
zse”
arL”
T6T"
a8
0s°

?99°

sLt”

oLe”

LET”

™t
Lae”
685"
19
Lez*
8oL
90"
696"
e

PEE"

TTrT
20

TT

T T

40

ELT
L]
I
[&]
A
o
I
o
2O
Wz
<
O—w. I
Y
T
= o
o

HO

62

'{||l||||||

1W‘f“rr1fﬁl]tr|‘|rllr]rrl‘rr1:|]r1rtjl|r“T1ﬁWﬂjﬂ“ﬂﬁ“rTrTTTTTTYWW1ﬁﬁ'rr‘|l[‘ll']|rTl1“|l 7T

220 200 180 160 140 120 100 80 60

240

S131



ceIs

533828 KSET 2 B 5 b ¥ w8
— O~ O = —m - N— - s LT
hrbchdrhd Ak t MAd A hh —— i

€9 ozg
290
N =Y
O .
O 3 Ooza
CHOUZHD)O o
NHY 0
O
o) 0\ _ud




ALO“BT
zet u-—\-
sPs°TL \\
sed e \ \
1‘\
€or ' 9c- W\
S¥E* n—\\ \
T L -w\_'. \ ]

LY

]

LAE'YS -\' \\\

suzas =\
cTer as_\

PIE 0L \
LyE” u—\\\\_ —

AT RL~, W

e A1/
oru—////,

oeo~on—/// /] /1
: IV
rr1e—, / ,/

ver-ece—// //
troras —/ //,
4 /)
ser aE—' ’;H;
vow-ter—'/ / /-
£30° 90T — ,/
f
teesor—'/ /;

osteser J’,

rtt'ut—”,’ /
LTy lt'l—"r/ fj /
!H"ltt——‘/ f
TI6"BET— fx

T50° 62T ’z'*/h
peo gzt ’ff,f‘r 71/ /
Ty EZT ,a,r s /

T oy / / /%,//j//

9897621 —f/ // !f

60623 /
06621 /;;_/,-’ 111/
696° B3 -‘//l'/,';' / ;’,r/
seoser—'/, )
cerrsei—'/ /
AT = 4/4/ /}
wrser—////;
veoresv-A////
stecson— /)
sesisst— /)
crorsst—/

BLL EIT—

i

=4
=

—

Laed

=

[&]

A

o

I

Q

o)

=

—— ¢

— <

o

Ph"O
o)
0
X
63

(o]
B
z0Q o
OBz

BzO

BzO

rTvyT

AL

TIT]7

Y Y""ll'*(f"lf-' I'["l"'TT'F"'"r‘.:I;

LRAS BRI

TTTT

180

(M

18§ RARE]

T 'IIITr]l LALE B

240

140 120 100 80 50 40 20

160

200

220

S133



wdd

S N T

| F

PELS

0E"F EL TING'E L0 BTN 10802 0L 28R°

mv € (0'SE"T 00°E

r

—

[ A rh At A M L

2

ﬁ.f,..ﬁ,ifgﬁ | :ﬁ

SR N

v9

0 HEsEmr1

iEERazeZe 1L Qhﬂa" [8°0 [&EROIIS 0

A Ay &

T »|__.-|.II.

RS BE TERIWE" b
LEWMATIL AT
T ]

6 0T

1B

oz9
0zg

240
290

290
X o oz
Coza

EHOLCHD)O N Q
NHoV

%

0 o\ _-ud




LN
EREEF

§E9°IT

SIp 02 -\\
L9z

9EE' 02 ‘\\

$68° L2 \\

2827 82—\ \
pIg tz—‘\\\\\
85€° 52U i\
T \\ -
TR “:\\\\Q—

(L u“\\-\\ \\,

2ETTER )

N
A\ ——

130°8F ™,
BT 08 )
85U 1RL
LU ) S —
N HWT—————
ERE'GOT
TET 02T
2ER BT 1\
(¥4 30 S \
T RZT NN
ot et
ERE"RET

3!8'051— i
o1y 821 T e—
by az1 iy

w3

s09 82 / i / // i
TR T /"""ffx /r’

Ti6 "W
55§27 7/ ;/’;'!!j
)

£69° 021 /
0l g2 {/ i
204021
yaL- ‘”_, ):;:/ f'f ‘//I//ZW:__
Fig 12T~ "/ ,‘f,,-
i /

058" 527 "’_.-*
#E4' 021—

!/ J':I-;JJ f/
152 2ET /) M’x-;/-‘ /
s ey —"21/1 /
HTH s+.'|:y fr”’&r‘ ,{’,

AET'FE1
LEZ €6

FEEERT
§60°LET
TAT' 601
Ve SA1
£ 59T
253591/,
TR 9T —
SE§°591— )

R0 EOT j

(0]

Ph’T‘O

AcHN

%%

O(CH2);CH3

0O

o

X

o]
BzO o o

Bzo ©
o 0Bz
OBz
OBz

BzO
BzO

R T T

T T =T =1 =7 == ry= T e ] P e ey

TTYTT

221

rpm

120

140

160

208

2410

S135



9¢IS

PO ] R | Y "

: YT

ozg
ozg

Z40

<9
0 OONm
290

z
280 ozg

g0
Xt
0
0 o)
o oz
EHOH®HD)O 0
NHoY
o)
o} o\ _ud

z




BLOTHT

PrE-L2
052762
BEE"EZ
PLE"SZ
BEATSZ
E189°1E
8107 85"

GEE DL
00" £L-
EVV e
LBI LL™
182 ee

s08°ee—)/ ————— =
see’ 20—/ /77 = n
240 ﬂ?J )fl-l 4

zoe* w_/ff’ j

521

zsn‘za—‘:? 1
089 26—//T
259 2677 r— S —
250786
sTen—
ETERT)
256 01—
gre901—
P

L1 EA 10 S —
a51°821

stz ezl —////
seztezt /)
Lezezt
B52°221
sow-eZ1—/
o5y’ 821
zog9 921 —
prE 2zl
920621
800 621
55621
ZE0T 82T
2oLezT —
gpe 31—
BIa-E2t
526 621 )
TN BEI__Jh
00281 sﬁf
0267 ZET
280" rpt--,x
PO ERT—
I5T7 88T a.-’r’
S e
POS EET
BEO LET
£58° LET

e

fibE" G017
BEL™ 501
GERTROT
B0 5917/
9207501/ //
06501/
1807 991—~f
9027 68T

o]
AcHN
O(CH,),CHs

o

Ph—\"O
O
O

(o]
C5:><:j
o gN
o o
o) o]
N
o
o]
(o]
%
m
@]
X
m

OBz

O
BZO0

BzO

OBz

BzO

rl'l
ppm

LI B e e

TTTTT T
G0

100

T TrTT

120

o prer 1

160

220

20

a0

140

150

zoe

240

S137



